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GS1

Time: 3Hours

Instructions :

(i)

(if)

Each question carries one mark.
08 RH a8 Sk S,

Booklet Code A

Marks: 200

Choose the correct or most appropriate answer from the given options to the following
guestions and darken, with blue/black ball point pen, the corresponding digit 1, 2, 3or 4
in the circle pertaining to the question number concerned in the OMR Answer Shest,

separately supplied to you.

BIHS 2 BO BH BHWES TES KOS SErTEEN® IEYFY T rDoD
o8 1, 2, 3 88 4 Jdom aQ)8 OMR d8res Hghns”® %) dowg& Ao He
D008 DEEL 03/e§ S P00l ) GIREA0N J0HIBL0.

The correct order of steps occurring in nutrition in animalsis?

(1) Ingestion - Digestion - Assimilation - Absorption
(2) Digestion - Ingestion - Absorption - Assimilation
(3) Absorption - Digestion - Assimilation - Ingestion
(4) Ingestion- Digestion - Absorption - Assimilation
2B0Ho PlS® 2h $fo HODS B

(1) wogFreatn - BYEA - FgohgSeaion - §7de
(2) 28 - wodFreadn - Tl - FgohgSeasion
(3) e - BB - FrgohigSeason - ogFreasin
(4) wogFresn - Yo - Fhe - Fgoh8Seasion

Chlorophyll isanaturally occurring compound in which the central metal atomis

P12

(1) Copper (2) Manganese
(3) Magnesum (4) Iron
dHrsomr oo HBT0B0S® 50658 &0R S5 HESre0l)
(1) %6 (2) H5008%

(3) Johaos (4) =88

The color change of Tgj mahal isdueto

(1) Green house effect (2) Acidran

(3) Agraisahot place (4) HighCOgas
TENTS SoHeS® S8y B Sod K

(D) 6L &2 Hardo (2) o8y $50
() e &M &oid RIS (4) 068 CO acs0d)
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4.  Minamatadisease affectsthe

(1) Skeletal system (2) Nervoussystem
(3) Respiratory system (4) Circulatory system
e (Minamata) s°gd & e Harard) SrdEod
(1) wRdond S553 (2) =& 5558
(3) =gs $g5% (4) ©oe 5558
5.  Permanent hardness of water can be removed by addition of
(1) Sodium Carbonate (2) Alum
(3) Lime (4) Silica
Q8 Bog), T E0585 A oddo Sl Sohoudiyd
(1) &co s°8IES (2) ¢35 (Alum)
(3) 8% (Lime) (4) 2os
6. Thetypeof joint where neck joinsthe head in aman
(1) Ball andsocket joint (2) Pivotd joint
(3) Fixedjoint (4) Hingejoint

SrSHAS® D, So&® HodoHR 8ev S¥o
(1) 208 A7) Seo

(2) 2% §en
(3) %% 8eo
(4) Soces 8en
7. InFireworks, the green flameis produced dueto the presence of
(1) Sodium (2) Potassium (3) Lead (4) Barium
Seroes” (Fireworks) esgody $rot 88 5960 a8 ©odto Sl §enhdod
(1) &&cso (2) @>reracso (3) 330 (4) Boado
8. Which of thefollowing heating method has maximum power factor?
(1) Archeating (2) Dielectric heating
(3) Induction heating (4) Resistancehesating

& 800 8BS wEIHE ¥8 5°E5R) EONS 36T ég@ 8?2
(1) o8, 8o
2) R85 re30h
(2 3o
(3) =SEES S0
(4) TR e3oh
P12 4-A
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P12

9. Deficiency of Vitamin E causes

(1) Rickets (2) Beri beri (3) Pdlagra (4) Infertility

DLNS E 550 81 885308

(1) 8388 (2) =0 =d (3) ey (4) Soggeesn
10. Whoisknown asfather of Genetics

(1) Henry (2) Mende (3) Morrison (4) Morgan

a:éag%“’@ DS B0T0 D

1) W (2) JvosS () %or038 (4) Iros
11. Who proved that oxygen evolved in photosynthesiscomesfrom water?

(1) Cadvin (2) Hatch

(3) Rubenand Kamen (4) Mayer

88eaasdy Do BohHe® Jbdedlhy ©8ud AL Sod WS JErH0NSE

() 5050 (2) &5

() &rBS 300050 570 (4) FpocHs
12. Inwhichoneof thefollowing, sound travelsfastest?

(1) Solid (2) Liquid (3) Gas (4) Vacuum

& 808 T3S" B So0d D B8 S Hasredowodo

(1) Hosdego (2) &sdego () a8 (4) HSgdn
13. Theyear inwhich Kyoto protocol was adopted?

§°5¢5* | @¥e5*s~S (Kyoto protocol) & es3re0ds Sode)dhn

(1) 2003 (2) 2005 (3) 2007 (4) 2009
14. Which deviceisused to measurethe speed of wind?

(1) Altimeter (2) Caorimeter (3) Chronometer (4) Anemometer

md I FolEds GHRrhon HOESSw

(1) ©ddes (2) 3S5*6es 3) EFDs (4) @3>0
15. Ozone holesare more pronounced at the

(1) North pole (2) Tropicof Capricorn

(3) Southpole (4) Tropicof Cancer

L8 Sogren 8 S8 dyhom erotrow

(1) w88 oS5k (2) Eraf e9 s

(3) 8 (o550 (4) Er2E o5 =56

S-A
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Theyellow color of egg yolk isdue to the presence of

17.

(1) Livetin (2) Phosphate (3) Sodium (4) Xanthophylls
& Bog), S DY) IZoS" oKtrds 578w

(1) 8283 (2) & (3) d&&ocso (4) =o'
Polymerase chain reaction is a technique to make copies of

(1) DNA usinglivingcells (2) RNAusinglivingcells

(3) DNA usingdead cells (4) RNA usingdeadcells

TOXVE Feody $8g HES Tgor & Bod o TR0 Sa5rEBcsNE)
(1) 325 gerodH edB3radr DNA S (2) 985 Swrod ¢dB3rads RNA &
(3) Q8 ool &dRrad: DNA S (4) 88 Serodn &dR3rndr RNA &

18.

When an acid (like Vinegar) reactswith ametal bicarbonate (like baking soda), the products
are

(1) Sdtandwater (2) Sdt, water and Carbondioxide
(3) Water and Carbon dioxide (4) Sdtand Carbondioxide

PG S0 S*Hros’ (B80A ¥ $0d) w¥ who (IS Hodl) WEgSTohs, 336;)53
ST

19.

(1) ol0d0 508050 A8 (2) o0, A Sddsw HS 3 W&
(3) I Lo HIBSF)E (4) olesn bk HSRSSE
Which of thefollowing isresponsiblefor producing photonsin adiode laser?

(1) Fermi level shift (2) Magority carrier injection

(3) Electron-hole recombination (4) Carrier freeze out

S$RBrE&E SebS® Firse ©SBE & Bod TS’ D8 °8B80?

(1) =8y 335 ag (2) 00 57005086 ANBES

(B) QoFES-ITS 8570INS (4) 580085 & TE

20.

P12

El NINO, aperiodic warming of Ocean surface waters occurs in which of the following
regions?

(1) Gulf of Mexico (2) Arctic North Pacific

(3) Tropical Indian Ocean (4) Tropical East Pacific Ocean
©oBOBOM $:5850(E5Y) wHdSwo 3@, EIl NINO 938 & §0b a83S°0 Q @odos’
ETeSIa SIS

(1) AS) us 0§F (2) =588 &g 1D

(3) ragS 20800 LA (4) Ero8S & D2NE LA

6-A
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A train running between two stations arrivesits destination 10 minuteslatewhenit travels
at 40 km/h and 16 minuteslatewhenit travelsat 30 km/h. The distance between the stations
inkmis

Tod Qase ¢y $&T a8 Seo 40 km/h JK08° ©Hosrsdigodm wb oS HIT I8
10 doren wodgomr R838. wddFomr 30 km/h IK08° Hasreddgodm 16 dDoren
wodgom BDOSH. Bod '5851503 $o¢sg drdo &..0¢8°

(1) 24 2) 12 (3) 10 (4) 20

22.

How many time zones arethere on Earth?
Frao & AQ) e Sooderen (time zones) esotroxn?
(1) 20 (2) 22 3 24 (4) 26

23.

Consider thefollowing:

A) Theaverageirradiance onthe Earth Surfaceisaround 1000 watt per square meter

B) Onabright summer day, theday light hasaflux of around 10,000 lumensper squarefoot

C) Nuclear Fissionisthe main reason for the Sun’s hot surface

The correct statements are

(1) A,BandC (2) AadB

(3) AandC (4) BandC

& (808 B HdKBowWodk

A)  gErdo D) wHdsw0 Qe 200 DKt J8Betn HSTM 2E WEED W&o
1000 ¢y

B) 8% domsrewo Serd H68 sodn Bng) $8) (FIUX) o8 S88D wdors
10,000 &)

C) Jrdgd &Hdsdehn 368 Sos QNG RIS 528080
{38 Frgpgen

(1) A,Bo8asn C (2) ASob8c50 B
(3) AXdcsnC (4) BXodosxn C

24.

P12

The approximate percentage of fresh water in solid and liquid stateson earth

D0 BoBOBD (B8 YHOS® e Al HErdd Jod TS0 $0DAS (fresh water) esotwod
(1) 25% | (2) 2.5%

(3) 12.5% (4) 9.25%
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Biomassenergy is

(1) Formed through photosynthesis

(2) Formed dueto the absence of light

(3) Formed duetothe heating by earth

(4) Formed dueto the presence of Nitrogen in the atmosphere

B5ES508 98

(1) 8Seesg HoBry (8o T JBYES0E

(2) 508 S°200S oM JEYES0H

(3) & JB U0 S0 8\ ES08

(4) TeSd00s® SBad GokLo S0 JS)ES s

26.

Which of thefollowing ismost elastic

(1) Rubber (2) Sponge (3) Glass (4) Stee
& 8ob r8S” wdghson ?@o@@gééé& EOAIH
(1) &epb (2) yo& (3) e (4) 5

27.

Volume occupied by one molecul e of water is? (density of water = 1 g/cm3)
0.8 DB wo0d) BEW0B o HoSTesn (S Fogs = 1 glemd)

(1) 9.0x10%cmd (2) 6.023x 1028 cmd

(3) 3.0x10%Xcmd (4) 5.2x10%8cmd

28.

In one hour aboat goes 14 km/h along the stream and 8 km/h against the stream. The speed
of the boat in still water is

08 DUS 28 Ko P8 areor 14 km/h &%, $a75*8 Sg&d8om 8 km/h &°%o

PS80 NS, JoERM wod AeIS® HED IS0
(1) 10km/h (2) 8kmih (3) 12kmih (4) 11km/h

29.

If the temperature of the sun increases by two times, the rate of energy received on the
Earth will increase by afactor of

Jrogd e wod LS Towo T NOAZ, rdd o JEbotad ¥§ FKSwn &
s8earogom (Factor) 28k08008

30.

P12

1 2 (2 4 3 8 (4) 16
Who gavethefirst evidence of the Big-Bang theory

(1) Albert Einstein (2) S Chandrasekhar

(3) EdvinHubble (4) StephanHawking
Dh-270ff JFToE 8 (Big-Bang theory) 300&330065¢3 Qesddoods ai)yob
(1) sdaf 2535 (2) 2% HoIE

(3) Q&S Frend (4) QoS H%8oR

8-A
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Read the following statements:

A) Teachers Day inlIndiaiscelebrated on September 5 every year.

B) World Teachers Day isalso celebrated on September 5 every year.

C) The2016World Teachers Day’sthemeis*Vauing Teachers, Improving Their Status'.

8ol argpgody K508 ¢

A)  rE88FoS® G goine BTEHT ) DPos Sdd 2HYB0LTE.

B) %0 erargod BSEHTQ) Sra DRoad 5573 2808 0trd.

C) ‘BHHHod FEJosto, T8 Fardy SRd8EE0’ 938 2016 HHoxs G GO
DS E)D 36(}550 (B DF oo,

Choose the correct statements: / $38 argpgedo Bendod:

(1) A&B (2) A&C (3 B&C (49) AB&C

32.

Read thefollowing statements about the National Science Day:

A) TheNational Science Day iscelebrated every year inIndiaon February 28.

B) Itisceebrated to mark thediscovery of the Raman effect by Indian Physicit, C.V. Raman
C) Itsthemefor 2016is" Sciencefor Sustainable Development”.

2 B03 ';&35“) 830380 H00080NS (8o J"ggpg@éo HSS08:

A) A BB FoS® 1HS D03&)B0 PX0 28570 8ERE0LTE

B) &rd8 &85 2338 2.9, 0700 EIGS TS ©erdo 80 Hdm S sBootrdd

C) 2016 3058)0°8mds e85 D) &S Idggor (theme) s wB)a” (Sustainable
Development) 8650 depdo (Science) So D05 Brcb.

Choose the incorrect statement(s): / 98570 argpg(e)do JoDE Bosob:

1 A (20 B&C (3) C&A (4) A,B&C

33.

P12

Read thefollowing statementson the World Habitat Day’ (WHD):
A) Itisobserved every year onthefirst Monday of October.

B) Itaimstoraiseawarenessabout the need for affordable housing for all in urban areas,
citiesand towns.

C) Thethemefor 2016is‘Habitat for All’.
D% Jaed (Habitat) &S0 (WHD) & 502008008 (8§08 g0 WS0k:
A) 8 Do5&)50 BAJ wE 6 I AT EoT R 2EHYS .

B) ${e @rocros’, Shovet, FTS” ®008 ﬁgéoé& @IS Hyr eS5FgES,
OIS §dyohdo & B’ )H0 R0, s oFgo.

C) ‘wo&ds Jad0’ @l Hod 2016 § Ho5H)TRE 0 ET.

Choose the correct statements: / $38 argpgedo Bendod:

(1) A&B (2) B&C (3) C&A (4 AB&C

9-A
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Assertion (A) : National Mathematics Day isobserved on December 22, every year from
2012inIndia

Reason(R): It is celebrated as a tribute to the mathematical genious Srinivasa
Ramanujan who was born on 22"d December 1887.

The correct answer is:

(1) Both(A)and (R) areindividually true, and (R) isthe correct explanation of (A).

(2) Both(A) and (R) areindividually true, but (R) isnot the correct explanation of (A).

(3) (A)istrue, but (R) isfalse.

(4) (A)isfase but (R) istrue.

BEFSS (A): 280 K838 B0 (FASS Sorgdeds) R)do & JoSLhdo &oas 22
T erdS8BF0s” 2012 $o08 3RB0LRITY.

580 (R): 1887 & 00206 22376 239)0R& Hedda g tvgoctahy AT 0r 8080
AT WOYOIETIE & BI'Q) 2doBootrd.

08 ddegrdo:

(1) (A) S080s0 (R) Bodr Sg8rgonr $38, o8k (A) & (R) 08 e,

(2) (A) S08050 (R) Bodr Sg8rigom $3:82, 522 (A) & (R) 838 d58e0 5°¢k.

(3) (A) 8358, 522 (R) 85y.

(4) (A) 853, 53 (R) $o86.

35.

I dentify the correct statements from the following:

A) MeghnaPant’s short story - People of the Sun

B) AyazMemon'sbook - M.S. Dhoni : TheMan, TheL eader

C) Sabalmtiaz- Karachi, You' reKillingMe

808 T8 S0d ¥BS rggOd D0NE BAok:

A) Do) Ho§ BoE), D) 88 - 2HS e & de (wofos’)

B) ©o5rE 30509 Bogo - 20.38. §' 1 & S8, & d86 (sooes?)

C) d2y aasrE - o7, ddor 86 89of 0 (soffoes®)

(1) A&B (2) B&C (3) C&A (4 AB&C

36.

P12

Read the following statements:

A) Russiaisthelargest producer of ail.

B) Saudi Arabiaisthelargest producer of gas.

C) Venezuelahasthelargest reservesof oil.

D) Thelargest reservesof gasareavailablein Qatar.

808 Trgpgody WES0&:

A) 080g sond eHBTH - Sy,

B) o8¢ mgd ¢ - b 0N,

0 080g sond Jeoden Ko 3o - Idwrer.

D) o8¢ mgd deoden do d¥o - pe°s.

Choose the incorrect statements: / $85°0 argpgoss BenHob:
(1)) AB&C (2) B,C&D (3 AB,C&D (4 D,A&B

10-A
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Read the following statements:
A) TheUSpresidential election isscheduled for November 9, 2016.
B) DonadTrumpisthe presidentia nomineeof the Republican Party inthe US e ections.

C) Hillary Clinton is the presidential nominee of the Democratic Party in the US
elections.

D) Hillary Clinton has served asthe US Defence Minister, earlier.

8ol argpgosy KaS0é ¢

A) D85S’ ©EgE INEew SHowb 9, 2016 Sk e ow.

B) o305 ad8ed® 00985 rf wigd wigdm &g L% INOR & ).
C) o0 IEoS® FITESE F§ odgE wFm™ reb fows FES” &ob.
D) #80&® red §otd ©R0ds S Hoo@m HAWOG.

Choose the incorrect statements: / 2 &8¢ $85°Q (éo“aj) PO oW BOHo&:
(1) A&B (2) B&C (3) A&D (4 D,A&B

38.

Read the following statements about ‘ Global Competitive Index’ (GClI) :

A)  World Economic Forum hasreleased the Global Competitive Index.

B) TheUSA hastopped thelist of Global Competitive Index, 2016-17.

C) Indiaisranked 39t out of 138 countriesin the 2016-17 index (GCl).

©H0% P JordE (TS 570BS 20@E)-GCl)% 020800 Bobd Tgpgeds SES0&:
A)  ©HHo% ©B8 I88 HHow FE rdE o ddode Bos.

B) 2016-17 0540708 ¢ HrOES® @005 Hoasng TEFe INEE FTQ) Fobs.
C) 2016-17 508 $sdo 138 Brod® arddddo 395 o) Frodod.

Choose the correct statements: / $38 argpgedo Bendod:
(1) A&B (2) A&C (3) B&C (4) AB&C

39.

P12

Read thefollowing statements about ‘ I nternational Day for the Preservation of the Ozone

Layer’:

A) Itisobserved every year on September 16.

B) Itwasdesignated by the UN General Assembly on 19t December 1994.

C) It'sthemefor 2016is‘Ozone and Climate: Restored by aWorld United'.

‘@oé%”e&aoﬁo 58S S8 D888 B80'E H000800S §od Ty BEH508:

A) B @8 dodedo DRoE 16 Tk 2sdRBootrd.

B) ofgorag S8 rorde ¢ 19-12-1994 ook < DGS=Q) BR0E008.

C) 2016 5050708 ‘8e’S L0880 arerddmo (climate) : 08y (D0 Zg)(‘édocécﬁea’
(Ozone and Climate: Restored by aWorld United) @& §&0& dgoxnomdo.

Choose the correct statements: / $38 argpgedo Bendod:

(1) A&B (2) B&C (3) C&A (4 AB&C

11-A
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40. Readthefollowing statements:
A) Indias*Valley of Flowers isapart of NandaDevi Biosphere Reserve.
B) ItisIndia’ssecond biospherereserve established in 1986.
C) Itislocatedin Tamil Nadu, Keralaand Karnataka.

o8 Trgpgody SEI06 :

A) S0mdd oS8 (biosphere) DS’ e R0 r8SRFoesS® &) re Stk
(valley of flowers).

B) 1986 ¢° Thowadd 2b rddlios” Boks $ardn S,
C) =6 SMemd, 366 500050 STLES® &5)6.

Choose the correct statements / 538 Srgpgesy Beodod:
(1) A&B (2 B&C
(3) AB&C (4) C&A

41. Matchthefollowing:

Award Awar dee
A) DhyanChandAward )  DipaKarmakar
B) DronacharyaAward 1) Mahabir Singh
C) MaulanaAbul KaamAzad Trophy 1) Satti Geetha
D) RagivGandhi Khel RatnaAward V) Punjab University
8o B BEHEWok:

T o> (ord
A) Tge Hob e ) &> =586
B) Serardy ooy )  X050HE oo
0 Fors wand oo sl |99 ) 38 as
D) 23 mob BS 88) vy IV) Hoerd d¥cdargeocsoo

The correct pairsare/ $388 s¢en:
A B C D

(1) | I v
2 N I | I
(3 I vV |
4 | IV I

P12 12-A
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Match thefollowing:

Name Sport / Game
A) Neerg Chopra )  Swimming
B) Mariyappan Thangavelu 1)  Shooting
C) S Pradeep Kumar ) Javelin Throw
D) JithuRai V) HighJump
8o I BSEHEWo&:

B e /88
A) 88 S ) &8 (Rgdoyoh)
B) %0005 dorSen )  Hre30h
C) 2% H6D S5r6 ) =385 &
D) &£ orom V) 3o 209

The correct answer is/ %38 ddrardo:
A B C D

(1) I | v
2 v i |
3 N | i I
4 v | I

Booklet Code

43.

P12

Read the following statements about FI FA World Cup:
A) TheFFAWorld Cup, 2014 waswon by Brazil.

B) TheFIFABdlond Or, 2015 awardfor theworld sbest player waswon by Liond Mess.

C) TheFIFA World Cup, 2018 will beheldin Russia.

D) TheFIFAWorld Cup, 2022 isscheduled to be held in Argentina.

PP (D00 EHE H02080RJ (§od Frgpgeodd FES0k:
A)  Dar Do 89, 2014 S BRS Rentrdood.

B) & Bos &85, 2015 0ard)dh @0 edigds estmam oRBnIS 08 Reodrom .

C) & ©dow 85, 2018 Sarges® asidr08.

D) & @dow 8%, 2022 Lo @goéf’)s"e?‘ 28O Agonowrdd.

Choose the correct statements / 938 Srgpgoso Beodod:
(1) B&C (2) A&D
(3) A,B&D (4 AB,C&D

13-A
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Assertion (A): The RBI has brought down the repo rate by 0.25% to 6.25% on
September 4, 2016.

Reason(R):  Thereduction of repo rate reduces the rate of inflation in the economy.

(1) BothAandR aretrue, and R isthe correct explanation of A.

(2) BothAandR aretrue, but R isnot the correct explanation of A.

(3) Alstrue, but Risfalse.

(4) Aisfase butRistrue.

The correct answer is:

©8>SS (A): 04-09-2016 ok Basddg ergoso B Bewso 0.25% $nod, 6.25%
QgonoRod.

sd0 (R): O Sew 800 o @08 JgIJS” ETgeye e SiHdood.

$BS dSrEPo

(1) (A) 00080 (R) Bodor £3589, $0das0 (A) & (R) £38 d8en.

(2) (A) 00050 (R) Bodr 885, 572 (A) % (R) 938 25880 5.

(3) (A) 8358, 52 (R) &5y.

(4) (A) 853, 520 (R) $o86.

45.

Read thefollowing statements about * Gold M onetisation Scheme’ inIndia:

A) Itwaslaunched by the Central Government on 5th November 2015.

B) Therateof interest offered under the schemeis 3% per annum.

C) Theschemeisexempted from capital gainstax on earnings.

WO (g8 HEE0 0 HowoRodS Bod Fgwgels WESod:

A) & 5659 So Webgco 05-11-2015 oo (EoDoob.

B) < %¢80 ©5°60 50580708 3 0 I Téw BowekoEod.

C) & 380 dorddon rodd e D89y MIFF000:) Gotwod.

Choose the correct statements / 538 orgpgesy Beodod:

(1) A&B (2) B&C (3) C&A (4 AB&C

46.

P12

Read thefollowing statements about child marriages:

A) ‘Child Marriage Restraint Act, 1929’ fixed the age of the marriagefor girlsat 14 years.

B) ‘Prohibition of Child MarriageAct, 2006’ raised the age of the marriagefor girlsto
18 years.

C) The2011 Censusfound that 18% of women were married before 18 years of age.

oy ArTtesy SowoRoRS 8od J"ggpgcéo LES0b:

A) BG S50 8ol IF, 1929 erdfe ¥ Do Sodydd 14 Sodoreon
QgonoRod.

B) ‘&S e9 39 Srg0& Dg, 2006 2380 85 Qi $0%59)d 18 Hvodd)oress
NOWOR.

C) 2011 zscer Keoste (95780 18 8o o0 Lf’gen 18 Jod)ore S05059)5°)
29y dmo.

Choose the correct statements / 588 argpgoo Bendod:

(1) A&B (20 B&C (3) C&A (4 A,B&C
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Which of thefollowing are Nav Ratnacategory industriesin India, ason May 31, 20167?
A) Rura Electrification Corporation Ltd and Power Finance Corporation (PFC)

B) HMT (International) Ltd. and MECON L td.

C) HALandMTNL

D) BPCL andQil IndiaLtd.

(1)) A,B&C (20 B,C&D (3) C,D&A (4 A,B,C&D
31-05-2016 o°é38 er8SBF0S” §od FBS® $558) i) HBESIL AD?

A) o DghEse Do (REC), deogs 28 $og (PFC)

B) rokars Fas wrd) (wodgdch), o5°s

O E.2.06., 20.8.08.085.

D) £.2.2.J65, sons 20605
(1) A,B&C (2) B,C&D (3) C,D&A (4) A,B,C&D

48.

Allowing private sector to set up more and more of such industries as were previousy
reserved for public sector iscalled as

(1) Globalisation (2) Privatisation

(3) Socidlisation (4) Liberalisation

0EK0 Yo e SorrS TEran0S HOFSHOM (RIE Sorod’ ILFLYEI8 8y S
05508 1F) Do) DB00eS?

(1) ©HHonsse (2) G.gf)égédeo

(3) FSr=8sden (RFUBBAS) (4) 25988

49.

P12

Read the foll owing statements about service sector in India:

A) It contributed above 60% of GDP in 2015-16, according to Central Statistical
Organisation (CSO).

B) Itcoversawidevariety of activities such astrade, hotel, transport, communication,
real estate, insurance, financing, business services, etc.

C) Indiaisthe second largest services exporter intheworld.

PSS BF0S® DT o8 H022080DS 8od a"ggpgoééa INAIN IR

A) 3o Herod Do (CSO) wsedo, 2015-16 &° o doKo 60 7°&°8 Dod dre
3%03?@5&{3;&) (GDP) D30Er0)08. |

B) P& Soffos® 800S IR, D, darerr, E5orgIBAS, Sd¥0, FFLS, dgo, Fg>d
DVH0 INEBS DYYE sEgEerTe0 & 5 0LTON.

C) DHotoS® D0 R08S® rSSTFo Bk FIQ) Fodob.

Choose the correct statements / 538 orgpgesy Beodod:
(1) A&C (2) A&B (3) B&C (4) AB&C

15-A



50.

GS1 Booklet Code | A

Match thefollowing:

Name of the Person Award (2016)
A) BezwadaWilson [)  DronacharyaAward
B) DeepaKarmakar ) RamonMagsaysay Award
C) Nagapuri Ramesh [  ArjunaAward
D) LaditaBabar IV) Rgiv Gandhi Khel RatnaAward
8o I8 BEHEWok:
598 W& o> (2016)
A) BaE I )  Serardy ool
B) &% $omp86 1) oS D vy
C) 8HB 8FK ) ©fs vad
D) o988 226 IV) oS mob BS 88) vardy
A B C D
(D I \Y, 1l I
2 vV M I I
(3 I \Y I 1
4 I \Y, I

5l

Read thefollowing statements about poverty:
A) Periodica estimation of poverty in India is conducted by the Central Statistical

Organisation.

B) InlIndia, the accepted average calorie requirement per person per day in urban areas
is 2,400.

C) InlIndia, the accepted average calorie requirement per person per day in rural areas
is 2,400.

60578 50200800S §od FTgpgOL WSS

A)  TEEBE0S” ATHWE 5700S" DEDEY wokTroln Zoid Hero Hof Bdko&od.

B) 238330 Heo (FosrS” o8 TS ¥ Hg88 drend 2,400 sodo eddgss
&0l @ohEdodR0od.

C) ood, rddlios’ P (Foere o8 §erd® af $588 Hrfens woh8dodadd

52.

P12

sco8en 2,400.
Choose the incorrect statement(s) / o a&3¢5° 8057 (823) Tgg(©)S d0HE Hakod:
L A (2) A&B (3 B&C (4) A,B&C
Theincreasein edible oil seeds production was dueto:
(1) Ydlow Revolution (2) WhiteRevolution
(3) GreenRevolution (4) BrownRevolution
308 I3 A0 &I VIKEIE RS s°¥w0:
(1) H0) (D) dHdo (2) 38 %S0
(3) B8 IHHo (4) &% dPHo

16-A
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Read the following statements:

A) The*Operation Flood" programmewas successfully implemented from the year 1966.
B) The'goldenrevolution’ refersto the development of turmeric production.

C) The'bluerevolution’ refersto the remarkable emergence of aquaculture.

D) Thestatewhichtopsinthe cultivation of flowersisTamil NaduinIndia

808 Trgpgody SEI0E :

A)  ‘esIBAS q:))é’ 5§y 1966 dos)do S0k duaSodomr whoen 5@0(3363.

B) 900 Hod @SB 00 DHS0” Bew)Eod.

C) os5ggesd (3o Sgoaraho) Rmrgd) DG 88 BHLYER) VO IPH0’ BenYHHod.
D) &ro wigos® sudardy orgo Bos” @ED FHoS® od.

Choose the correct statements / 588 argpgoo Bendod:

(1) AB&C (2) B,C&D (3) C,D&A (4 A/B,C&D

4.

Read the following statements:

A) Thenew chairman of PressTrust of Indiais Riyadh Mathew.

B) Sudhir Pratgp Singhisappointed asthe Director Generd of Nationa Security Guard (NSG).

C) The new Director General (DG) of Nationa Disaster Response Force (NDRF) is
R.K. Pachnanda

808 Trgpgody SEI06 :

A) (B9 WY 5 20605 XSS BES - BFE S:¢og.

B) r&c% 88 mey (NSG) BoE6 a38Sm %046 Herd 2050 AoHoodam .

C) &% 8ardS &) #°6) (NDRF) $r88 3086 asdSm ©63. 35508

QB0 .
Choose the correct statements / 5388 orggesy Beodod:
(1) A&B (20 B&C (3) C&A (4) AB&C

55.

P12

Assertion (A) : Cell biologist, Yoshinori Oshumi isawarded the Noble prizein Biology.

Reason (R): Heis awarded for his discoveries on how cells recycle their content,
through aprocessknown as autophagy.

The correct answer is:

(1) BothAandR aretrue, and R isthe correct explanation of A.

(2) BothAandR aretrue, but R isnot the correct explanation of A.

(3) Alstrue, but Risfalse.

(4) Aisfase butRistrue.

DOFESS (A): S0 B TYIE 000 BASTV W8 £ITH0S” SBS 20
v Bobadod.

80 (R): georen @ B0 83 ermen PITSBo vHe R wisTHh (autophagy)
BB oo EFHHoks FBS TVHEI Fom k.

¥ dSrEPo

(1) (A) 00080 (R) Bodor £3589, $0das0 (A) & (R) £38 dS8en.

(2) (A) 00050 (R) Bodr $885, 57 (A) % (R) 938 25880 s°¢0.

(3) (A) 8358, 52 (R) &53.

(4) (A) 853, 522 (R) $o86.

17-A
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Assertion (A) :  TheNoble Prizein Economieswaswon by Angus Deaton.

Reason (R):  Hisanaysisof consumption, poverty and welfare waswell recognised.
The correct answer is:

(1) BothAandR aretrue, and R isthe correct explanation of A.

(2) BothAandR aretrue, but R isnot the correct explanation of A.

(3) Alstrue, but Risfalse.

(4) Aisfase butRistrue.

R8FES (A): 0ETH0S" FBS 0S8 ol &S Reodromd.

80 (R): 8)50033"(10 080 BoBa HOEH0T VB JFde VoS KfowEb.
08 ddoeerdo ¢

(1) (A) 0080 (R) Bodsr $0:59, $08a80 (A) & (R) $38 d58e.

(2) (A) 508050 (R) Bodr 5885, 520 (A) % (R) 938 25880 5.

(3) (A) 8358, 52 (R) &53.

(4) (A) 853, 53 (R) $o86.

S7.

Asper the 62" National Film Festival Awards- 2015, which of thefollowing pairsarecorrect?
A) Best Telugu Film - ChandamamakKathau

B) BestHindi Film- Queen

C) BestActor - Dhanush

D) BestActress- KanganaRanaut

625 2805 FoSAE Dokl wrdy -2015 Hs5eEo Bod TES® ) wEwo HOGISI?

A) &gl B Fod Vo - Loddrd e

B) &g rod Sl dgo - §e

C) &8 Stk - g

D) &85 I8 - oK oIS

58.

(1)) A&C (20 B&D (3 A,B&D (4 AB&C
The newly appointed Chairperson of the Ethics Committee of Lok Sabhais

(1) KaanSingh (2) LdKrishnaAdvani

(3) Murali Manohar Joshi (4) SharadYadav

S°50% 388 Do S8 Srdd ©P AT A0 EBEIT:

(1) 885 0% (2) od 8] o

(3) 52089 56 & (4) #88 o578

59.

P12

Read the following statements:

A) ‘SwachhBharat Abhiyan’ waslaunchedin Indiaon October 2, 2014.

B) SwachhBharat Abhiyan aimsat attaining afully open defecation free Indiaby 2019.
C) ‘Swachh Survekshan Gramin 2016’ report has adjudged Sikkim asthe cleanest state.
8ol Frgpgoy KaS0é ¢

A) @’s‘ﬁaﬁ 2, 2014 S0 coog@ PES WHASTFO BEoDoT .

B) 20193"(‘;3% S0l 26303)@626 8578 erESRFL0E FHoTHH @5‘5& PSS WHAPS wFgHw.
C) ‘ordoes B9 ST - 2016 3368 28,0 TEEQ) w8508 HODE TP om PEGDB.
Choose the correct statements/ $38 argagoso Beobod:

(1) A&B (2) B&C 3 A&C (4) A,B&C

18-A
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Char dham project isto build new national highways connecting

(1) Thefour shrinesof Kedarnath, Badrinath, Gangotri and Yamunotri

(2) Thefirst four smart citiesin India

(3) TheNorth, East, West and South of India

(4) Thefour shrinesof AnantaPadmanabhaSwvamy Temple, Tirupati, Kedarnath and Badrinath
Bod T8S* ) TYoB EuYSr 8 80 SrTdo ool T (FERS
SA0WE?

(1) Szocrf, 2@, Koif@ L0850 dHSNS'@ w& 4 YHeagse e

(2) 2r88T8F0S™ INEE Treuid § SHoren

(3) &g, Erdoy, HeH08 L8050 g FTEEBIo

(4) oS08 HEByTe g BITO000, BEHY, STOIE 0B 2 OTE @ 459)8053@"’03

61.

According to 2011 Census, the state with lowest literacy ratein Indiais

62.

63.

P12

(1) Tdangana (2) Madhyapradesh (3) Bihar (4) Chattisgarh
2011 zorer BE© (©5°C0, wrESRI0S” wEgoy WETEIE TSI orPo
(1) Boorrs (2) SoggHas (3) &H5%6 (4) BEIE
According to 2011 Censusthe state with lowest population sex ratio in Indiais
(1) Punjab (2) Hayana (3) Gujarat (4) Rgasthan
2011 e B0 @5°80, P EERI0S® S8 H [f’_oo DHR ARG Ko Tmgo
(1) Hoersd (2) &ogd (3) Hoeors (4) ougS
Match thefollowing
List-1 List-11
a  Sardar Sarovar dam 1)  Anamudi
b)  Highest mountainpeak in SouthIndia ii) Agnigundaa
c) Todas i)  Namada
d Copper iv)  Nilgiri
23D BT N0:
DS - | D& - |
a dgb H&SS6 @go 1) o350
b) &8s erd8ldoes® I8S HSes 3pdo 1)  whhome
C) & - i) Seo
d o=a V) Qeoad

The correct answer is
BOFIS BIPFSH0
a b C d

1) v i i i
2) i i iv i
(3) il i iv i
@) i v i i
19-A
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64. Matchthefollowing
List-1 List-11
River Tributary
a Ganga 1)  Bhima
b) Brahmaputra i)  Wainganga
c) Godavari i) Teesta
d) Krishna iv) Kos
8o B BSHLWBN:
S - | DS - |
(3&) (wd38)
a Kok i) 9o
b) @& i) IS Korr
C) /oS8 i) &&
d & iv) &%
The correct answer is/ $50%os dSrerdsn
a b o d
1 v iii ii [
(2) i ii i iv
3 v i i i
(4) i ii iv iii
65. Matchthefollowing
List-1 List-11
Thermal power projects Sate
ad Dhuwaan i) Orissa
b) Korba i) Tdangana
c) Kothagudem i) MadhyaPradesh
d) Tacher Iv) Gujrat
8o B BSHLWEN:
S - | DS - |
(85 2&éE Tomen) (U‘@o)
a o8 1) 203
b) &o i) Boormre
C) &girao ) Sodgdads
d eos V)  Soeord

P12

The correct answer is/ $50%0s dSrerdsn
a b C d

@ v il i i
2) i i i iv
3) v il i i
@) i i v il

20-A




GS1

Booklet Code

66. Matchthefollowing
List -1 List-11
a Bandipur 1)  Uttar Pradesh
b)  Corbett i)  MadhyaPradesh
c) Kanha 1ii)  Uttarakhand
d) Dhudwa Iv) Karnataka
808 FEBI 2EHKHTS0:
DS - | D& - |
d 2086 1) &S3HaT
b) s63¢ i)  Sodgdads
c) =8, i) egdpok
d) oz V) el
The correct answer is
BOFIS BIPFSH0
a b o d
L v iii ii [
(2 i ii i iv
3 v iii i i
(4) i ii iv iii
67. Matchthefollowing
List -1 List-11
Coal field Sate
d Ranigun 1)  WestBenga
b)  Singrauli i)  MadhyaPradesh
c) Singareni i) Tdangana
d) Jhaia iv)  Jharkhand
8o B BSHLWBN:
DS - | & - |
(i &) (G‘@o)
a oBod 1) 93k Borrd
b) 2oF® i)  Sodgdads
C) oK0ed i) Beomre
d =8 V)  e=go&
The correct answer is ‘
HOSS HETEHBEN
a b c d
L v iii ii [
(2 i ii i iv
3 v iii i i
(4) i ii iv iii
P12 21-A
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68. Matchthefollowing

Booklet Code

List -1 List-11
Waterfall River
d  Dudhsagar i)  Mandovi
b) Kapildhara i) Namada
c) Hogenaka i) Cauvery
d Jog Iv) Sharavaty
8o B BSHLWNN:
S - | DS - |
(2o>$0) (38&)
a &r&>KE ) %008
b g»Soor i) 3G
C) FmES i) 538
d &4 V) R0
The correct answer is/ 50%os dSrerdsn
a b o d
L v iii ii [
(2 i ii i iv
3 v iii i i
(4) i ii iv iii
69. Matchthefollowing
List -1 List-11
River Source/origin
a Cawvey i)  Brahmagiri Hills
b) Namada i)  Amarkantak Plateau
c) Sabarmati i) Aravali Hills
d Krishna Iv)  Western ghats
8o B BSHLWBN:
DS - | D& - |
(3a) (a:ﬁg@g:ﬁo)
d 5308 1) @oyAd Soden
b) S5 i) ©5088088 H8e5ran
C) D063508 i) e0°%® Foden
d & V) 53y Elodoen

The correct answer is/ 588308 &S50
a b c d

@ v i i i
2) i i i iv
(3) v i i i
@) i i v i

P12 22-A
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Match thefollowing

List -1 List-11
Project Sate
ad Rihind 1) Karnataka
b) Sileru 1)  Tamilnadu
C) Maettur i)  AndhraPradesh
d) Almatti Iv)  Uttar Pradesh
8o B BSHLWBN:
DS - | D& - |
(rasy) (0§ 0)
a 8ro& 1) Sgpws
b) 8% i) Sgardo
C) odgd i) eso@Has
d  essS5g V) &480aT

The correct answer is
HOSS HETEHBEN
a b C d

@ v i i i
2) i i i iv
(3) v i i i
@) i i v i

71.

P12

Read the following statements

a  Monsoonisawind system inwhich the direction of winds are reversed seasonally

b)  Monsoonwindsblow from seato land during the summer season. They aremoist and
bring rainfall.

c) During winter season, the direction of monsoon wind is from land to sea in a
south-westerly direction

& 1808 DI WLH0& :

8 0HDIITSE 750 IgIY. RoKS® Teve B wdERs Eo drdad.

b) 33I5°00° w0&ddTren $50Eo o0& Frdnd L. v Bk EOH wod
SE TS ;0.

C) 385008 wNHIITL0 IS HFS® grdd o0& JSEEo IYF JFrow.
Which of the above statements is/are correct

ABS® B HORS ISGed
(1) a&c (2) b&c 3) a&hb (4 abé&c

23-A
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72. Readthefollowing statements:
ad Lateritesoilsareformed dueto intense L eaching because of high rainfall
b) They aresuitablefor plantation crops
c) TheyarefoundintheKeralastate.

& 1808 VI WLHo&

d o8 SEFS0 S &rdd N FOI8 S B Jo 865365@"’033
b) eredd Sven &L SgEFAErIE OB

C) 2 38s orHosS” Gaow

Which of the above statements is/are correct

ABS® B JORS ISGed

(1) a&c (2) b&c 3) a&hb (4 abé&c

73. Readthefollowing statements:
a Black soilsareideal for dry land farming.
b)  They have moisture retention capacity.
c) Black soilsaresuitablefor plantation crops.

& 808 Frgpgolo WSS ¢
a) DY, SgIras s 269'(35& glrdnen esdreo.
h) B8 B 89S 500 JeoPBT 4§ Sod.

C) SYOHG grdnen &' SgIFairds SOROS.

Which of the above statements is/are correct

ABS® B HORS ISGed

(1) a&c (2) b&c 3) a&hb (4 abé&c

74. Readthefollowing statements
ad Himaayasareyoungfold mountains.
b) They areuplifted from Tethys sea.
c) TheEast-West extent of Himalayasis about 2500 kms.

& 1808 VI WLHod

a rirociren $ S Qg 0.

b) ©d B&S dSogo SHod 28 Bidemow.

C) Wrdrodires rdy-d3)door o) 2500 8.ove FEHS Y00 ea)ow.
Which of the above statementsis/are correct

ABS® B HORS ISYed
(1) a&c (2) b&c (3) a&hb (4 abé&c

P12 24-A
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Read the following statements

d  River Brahmaputraisan antecedent river.
b) InTibet,itiscaled asTsangpo.

c) Theimportant tributariesare Shyok, Shigar.

& 1808 DI WLHod

A TG I8 w8 FrEgs I8.

b) &2 S8BES® Fohd @ Heodd.

C) g S0 arrben B8 Swpg whSdoe.

Which of the above statementsis/are correct

ABS® B HORS ISGed

(1) a&c (2) b&c (3) a&hb (4 abé&c

76.

Read the following statements

a  Thetotal geographical areaof Indiais3.2 million sg.km.

b)  Thesouthern most point of Indialiesin Nicobar isandswhich wasformerly called as
Pygmallion point and now Indirapoint.

c) TheNorth-South extent of Indiaisabout 2100 kms.

& 1808 DX WLHod

a rSSBE Indo FHYE :)f’_oogo 3.2 2000508 WSEH 8.doew.

b) 888 580 DI0 w0 IS BrroS’ ob, R0SK YrEgo HRYODS ooy
O VNB0 ROJT® FoNodd B DevStsIod.

C) rd8R%o o) 2100 8.0 FEHS &wLS-B§wom Tguod &od.

Which of the above statementsis/are correct

ABS® DB HOS DHSew

(1) a&c (2) b&c (3) a&hb (4 abé&c

77.

P12

Read the following statements

a)  Geologically, peninsular Indiaisone of the oldest part of theworld.
b) Thesdopeof the peninsular plateau isin a South-Westerly direction.
c) Mostof theriversin peninsular Indiaflow into Bay of Bengal.

& 1808 VI WLHod

d & depdhdor, @HowWos® grdd BeHENR0E HTSIFSE.

b) &gdgey 2derdy Teo Jand BFS &od.

C) oS8 GrH8e) I8 Schen 2omEgrdos™ HSrowd.

Which of the above statementsis/are correct

ABS® B HORS ISYed

(1) a&c (2) b&c 3) a&hb (4 abé&c
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78. Assertion (A): Tropical decideousforestsare associated with N.E partsof India
Reason (R):  Tropical decideousforest shed their leaves during the dry season.
The correct answer is
(1) Both(A) and (R) aretrue and (R) isthe correct explanation of (A).

(2) Both(A) and (R) aretruebut (R) is not the correct explanation of (A).

(3) (A)istrueand (R) isfalse.

(4) (A)isfaseand (R)istrue.

PEFES (A): Sl rdEB0S” &R0k eiTey) WEHoT)0%.

5820 (R): I0I5700° &Rode wiorey) vEHed 8 sod Joddwd.
BOFOS BSTESo

(1) (A) 5008050 (R) Bodr 2.0y 008050 (R) 938 (A) £ 50808 dh8eo.

(2) (A) 50050 (R) Bodr 22y 570 (R) @38 (A) % 838 I8 s°¢k.

(3) (A) ©38 2y $o0s» (R) 038 &53.

(4) (A) 038 85y L0050 (R) 038 2.95y.

79. Indiaexportsalarge quantity of Iron and Steel to

(1) Japan (2) Singapore (3) Audrdia (4) Madaysa
rESBF0 So0d Q0B50-G 85y, @PE0H ANHE MIHottSIN) 3%0o
(1) =3 (2) 2086 () sROWS> (4) SoBAcsr

80. Theaverageelevation of Himadri rangesisabout
(1) 5100 meters  (2) 5500 meters  (3) 6100 meters  (4) 6500 meters

TEFB DG BFeavw RBE) STH0 dely
(1) 5100 oed  (2) 5500 awedy  (3) 6100 nedy  (4) 6500 Qoeod

81. TheCoast Lineof Indiaexcluding Ilandsisapproximately:
(1) 5100 kms (2) 6100 kms (3) 7100 kms (4) 8100 kms

553"093‘5 5PE00T PSSR E BETP P S
(1) 5100 8.2 (2) 6100 8.2~ (3) 7100 8.2 (4) 8100 8.2

82. Thestate producing the highest quantity of paperis
(1) West-Benga (2) AndhraPradesh
(3) MadhyaPradesh (4) Tdangana
sAeQ) v8e8om &S BXY) ovho
() 3 Bors  (2) wo@was (3) Soggas (4) Boorrs

P12 26-A
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83. TheKarewasof Kashmir refersto

(1) Alluvia fans (2) Ravines

(3) Glacial deposits (4) Broadriver terraces

530 B¥), 50D HAS HowodoNIH

(1) 2080 Jd55e0 (2) S3%0e0

() XSS Jgaren (4) 3BYS & Icdogen
84. Nationa Atlasand Thematic Mapping Organization (NATMO) islocated at

(1) NewDdhi (2) Kolkata (3) Chennai (4) Dehradun

IASS ©LrR 08050 §HrBE Srghoh éo{% &) T

(1) &g 9 (2) sSger (3) 3 (4) BH* %S
85. Thestatethat produceshighest quantity of UraniuminIndiais

(1) AndhraPradesh (2) MadhyaPradesh

(3) Bihar (4) WestBengd

ESTF0S” BB wEBEoT GEG B o°Go

(1) esogRas (2) SoggHaT (3) &5 (4) 53 BorS
86. SouthIndia‘Manchester city’ is

(1) Mysore (2) Bangauru (3) Kadduru (4) Coimbatore

8o TESTED) ‘26?05@5 o“)éaa)eao’

(1) I (2) BoKersd (3) gdorsH (4) 8§08
87. A goodexamplefor lavaplateauinIndiais

(1) VindhyanPlateau (2) Chotanagapur Plateau

(3) MavaPlateau (4) DeccanPlateau

ESRF0ST erars® Erdd DELTrE Hod GBI IS

(1) owrg vesr (2) Strarfdrs 28>

(3) Sy wesr (4) &8 88T

88. Thetimedifference between Indian standard time and Greenwich meantimeis

1 1
(1) 5hours (2) 55 hours (3) 6hours (4) 65 hours
8E (PIrBE o8 NN s Bod Ko Hgergdo

1 1
(1) 5Kotoen (2) 55 fotren (3) 6Kotoen (4) 65 Kodoen
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90.

Bhakra-Nangal project isconstructed on theriver

(1) Ravi (2) Bias (3) Sutle (4) Chenab
rEd0nS |TEY & SO ELadod

1) o (2) Hosr (3) 8& (4) &
The state with least forested areais

(1) Rgasthan (2) Punjab (3) Hayana (4) Gujarat
&) VLD IJFo Ko T°Ho

(1) ST (2) Doerd (3) &orger (4) oS

91.

Assertion (A): The winners of Nobel Prize in Economics for the year 2016 are
Dr. Oliver Hart and Dr. Bengt Holmostrom.

Reason (R): They are chosen for the award for their analyses of ‘ market power and
regulation’.

The correct answer is:

(1) Both(A) and (R) aretrue, and (R) isthe correct explanation of (A).

(2) Both(A) and (R) aretrue, but (R) isnot the correct explanation of (A).

(3) (A)istrue, but (R) isfalse.

(4) (A)isfase but (R) istrue.

E&>SS (A): 2016 S° g7 30" &I 2,056 H°§ H00a50 & Bofj FSyFrao w708
STBS 208 HEBoT.

580 (R): S0 & es8d850 508050 oo 370 JFieash SBS 2iTvs Sob.

08 ddoeerdo ¢

(1) (A) 0080 (R) Bodor 5083, $080%0 (A) & (R) $38 dS8e0.

(2) (A) 508050 (R) Bodr 53853, 522 (A) % (R) 938 25880 s°¢%0.

(3) (A) 8358, 522 (R) &53.

(4) (A) 853, 522 (R) $o56.

92.

P12

Read the following statements about business cycles:

a Thephasesof businesscyclesare: boom, recession, depression and recovery.

b) Therecessionismeasured by gini coefficient.

c) Thephaseof gradual riseinincome, output and employment isdepression.

TrgrS HEroB0 H0208003 (§od Frgpgeodd $ES0k:

a 2o, & KSS0 (recession), @gé 53708550, D8N0 ) e $en argard SEres”
€ 08I°00.

b) &8H505Q) & reago (gini coefficient) oo S8 .

C) esmado, &8 Bk &&'ghEs” EHom 28R $E @gé Srocsgo (depression)

DN 0R.
Which of the above statements are incorrect? / 3 &°&8&° $05°Q (82y) Srgpgen AD?
(1) a&b (2) b&c 3 c&a (4 abé&c
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From among thefollowing, which oneisapull factor in emigration?

(1) Employment opportunities (2) Political oppression
(3) Shortage of food (4 War

o8 7°8S® Soden (ADRAS) PS8 Ko IS (oh) 57880 8?2
(1) &>rd vssaen (2) oo28csh ©edIS
(3) o58 58 (4) osngo

94.

Read thefollowing statements about ‘ Physical Quality of Lifelndex’ (PQLI):
a) Itisdeveloped by MorrisD Maorris.

b) Itisoneof theindicatorsto measure human devel opment.

c) Itsparametersare: standard of living, health and education.

TEE B Rores dr0E (PQLI) & H020800 Bod argmgeis H$ES508.

3 600 305 & Ar0S LB DA,

b) S35 @@269@9&) FOR FETS 9d 8.

C) 88 255 Pdre drd) FodEds 25 Wirewo, wirgo 0N ALy @
Koy PSrerrody wmgrdomr &:08008008.

Which of the above statements are correct?/ o o°¢3e5° $0B08 Tgpgen @?
(1) a&b (2) b&c (3) c&a (4 abé&c

95.

P12

Read the following statements:

a While calculating GDP, income generated by nationals of a country outside the
country istaken into account.

b) By deducting the depreciation charges of plant and machinery from GNP, we get
NNP.

c) Averageincome of the peoplein acountry in afinancial year is called ‘ per capita
income’.

808 Trgpgody SEI06 :

d Bro BIBTEB B 0BLHYK, AL BToS® &) KB HoTHONS B aird)
DBKedS 8 BT otTd.

b) chogre T8 So 6T SN dre PERTrS)E ok SITY JAES 8D
@SB BoR08.

C) 8«08 (Dg) doSHBos® &8 BF Pae drtw STraird) Fodd emrado’ wotrd.

Which of the above statements are correct / 3 a3¢5° $38 argmgen D2
(1) a&hb (2) b&c 3 c&a (4 abé&c
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Read the following statements:

a  Whilecalculating GNP, income generated by nationals of acountry residing outside
the country is not taken into account.

b) Thevalueof national incomeadjusted for inflationiscalled as‘rea nationa income'.

c) Theincome of theindividualsat their disposal after paying direct taxeslikeincome
taxiscalled ‘real income'.

o8& Trgpgody H$ES50b :

8 of 37 Proo 288 BTG €0k J0THOV WA JHBIS’ BB Sro
BT 00058 HOKeSS 8 SR .

b) =8 3¢ r8Srorad Jendeod o8 (Sgey0os’ SRwrt 3 T3
eSS o0’ Bendod.

C) o)) HX0) H0&3 (HEgE Do BOoDS S0 2.8 g8 ¢ S si0e® &od
BT ETQ) TYIE BTA00" WOoLrdd.

Which of the above statements are incorrect?/ o o°83e¢® $05°0 Trgpgen dD?

(1) a&b (2) b&c 3) c&a (4 abé&c

97.

Read the following statements:

a  According to the Malthusian theory of population, supply of food grainsincreasein
arithmetic progression.

b) Atthesametime, the population growsin geometric progression.

c) The 2000 population policy in Indiahas along term objective of achieving astable
population by 2035.

8ol Frgpgoy K508 ¢

a :ﬁroco B30T cocs"oéo ©5°80, &S grarge HHo% @o¥ Hedd BeBS® & KS08.

b) & @sooﬁooes“s &6"2,)"’ K5’ S @B’ (geometrlc progression) 0&ok&008.

C) rdsaFoes® 2035 S5 8 2T FHowred aarer Aerso, 2000 oggomr

Qgo0oN0’.
Which of the above statements are correct?/ 3 o°ie® $38 argpgeos Beohob:
(1) a&c (2) b&c (3) a&hb (4 abé&c

98.

P12

Read the following statements:

A.  Censusisconducted under the CensusAct of 1948.

B. TheCensusisconducted onceinevery tenyears.

C. The2011 Censusisthe 11th Censusin the modern Indian period.

Bob argpgod WESodk:

A R0 Af (BIer deroste $80), 1948 s do aarer 8§ 0 wEdm adifgi0d.
B. ©8& 58 305&0ofErd aorer farostol 0Edd.

C. &8 erdsBdos” 2011 &° 2008 aarer Kegrosten 115 1FHRm HdKe3dya .

Choose the correct statements / 3 5°¢3¢5° $38 argpgesy D08 Hakod:
(1) A&B (2) B&C (3) C&A (4) A,B&C
30-A
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99. Assertion(A): The 1991 industrial reforms exempted all industries from compul sory
licensing.

Reason (R): At present, there are six industries under compulsory licensing.
The correct answer is:

(1) Both(A) and (R) aretrue, and (R) isthe correct explanation of (A).

(2) Both(A) and (R) aretrue, but (R) isnot the correct explanation of (A).

(3) (A)istrue, but (R) isfalse.

(4) (A)isfase but (R) istrue.

©OFESS (A): 1991 FBTdE dod)deewn EHAH0 Swoh IS0 Hod »i)
QBF0B DINED Edyowrow.

sdwo (R):  ©&80, ‘5000 B0l ATK0s” e HOFHen ea)ow.
38 ddrerdo :

(1) (A) 08050 (R) Bodr $859, $0800 (A) & (R) $38 d8eo.

(2) (A) 508050 (R) Bodr 5389, 520 (A) % (R) 5385 D580 s°&%0.

(3) (A) $2586, 522 (R) 82y.

(4) (A) 8%, 522 (R) d3856.

100. Globalisation is beneficial for firms because of the mgor reason (from among the
following):

(1) It cushionsthem from the effects of eventsin other countries.

(2) It opensup new market opportunities.

(3) Itincreasestherisk and uncertainty of operating in globalising world economy.
(4) It protectsthem against foreign competition.

©H0DEEe e DoPed wrio BEFKHE0H. JokEB (8o TBS® wE HFS 5°E00):
(1) 288 37od’® 288 dodbde Harso Bior KHHoDEdn S8l §8)90s.
(2) ©H0DELe So §F 88 Srq sl odsTer Fhieow.

(3) D0 98 SgHH0 Dgargo BoSoes” SPRFG0 $r0A%w0 B eroi3d HASY
RS 0.

(4) 2B3 ¢ L00& HHoNES §N0B.
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Match thefollowing:
Author Book Title
a AdamSmith 1)  Poverty and Famines
b) AmarthyaSen 1)  TheGenera Theory of Employment,
Interest and Money
c) Dadaba Naurgji 1) TheWealth of Nations
d) JM.Keynes Iv)  Poverty and UnBritish RuleinIndia
8o I BSEHEWo&:
ESons 58S (soffod’)
d wdo S 1) 258 & DY
b) eody w0 1) ¢S 2888 000 &9 o0, ¥otBY & HoJ
C) ooeron I8 i) & 3§ 69 I4Q)
d =.do. &) V) 59 & 9SOER 8>S a8 Qo

Choose the correct pairs/ 98 ageos Jo Wakod:
a b C d

(D i i i iv
(2) il iv i iii
3) v [ i i
(4) i [ iv ii
102. Readthefollowing statements:

P12

'

a  Theratio of grosscropped areato net cropped areaiscalled asthe* cropping intensity’.

b) Theratioof grossirrigated areato net irrigated areaiscalled asthe‘irrigationratio’.

c) The crop production in kilograms per one hectare of land is called as ‘crop
productivity’.

808 Trgpgody SEI06 :

d DHowen FVI dro QYT Dowew FY JEE AQFoS® wrAcur STYE Dok
o’

b) &g A8 Tgoe IR Sre DQTA) DEgD) A TG00 FRS AEE DQFos® erhotm
STO IS (Sgdrcd)

C) of TTH Foos® A SN g0 H0B0D A BOF 0O Dobrw

e $ES’
Which of the above statements are correct?/ 3 o°83&* $38 argmgosy Bendod:
(1) a&b (2) b&c (3) c&a (4 abé&c
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Read the following statements:
ad Thehighest oil seedsproducing statein India, asper 2013-14 records, was Madhya

Pradesh.

b) Thelargest ground nut producing Indian state, as per 2013-14 records, was Tamil
Nadu.

c) Thelargest sugar cane producing state in India, as per 2013-14 records, was Uttar
Pradesh.

8ol Trgpgod WES0b :
a 2013-14 oo K¥sdo, T38R0S S Ao Hodrew wgR8om :SJQS§@3§

orh0eS® Hodow .
&/

b) 2013-1485°Ke $5°80, er8ERF0S" I IIH Hotado wdghEom SET e oo oS

Hodowrdo.
C) 2013-14 8o ©®57do, TS8R0S BKHE Hokad wgspEorm = tetat U"éjoé‘
Ho&ow .

Which of the above statements are correct?/ 3 o°&e® $38 argpgesy Beohob:

() a&b (2) b&c
(3) c&a (4 ab&c
104. Read thefollowing statements:

P12

a  ‘Operation Flood wasstarted by the National Dairy Development Board in 1981.
b) Itwasthelargestintegrated dairy development programme of theworld.

c) Thefather of ‘ Operation Flood' wasDr. Verghese Kurien.

d) Indiaisthesecond largest milk producing countriesintheworld.

808 Trgpgody SEI0E :

8 DESS Bowd BIOSB0E F°) 198l & ‘©HBAS HE © HEFQ) BG0HoNB.
b) ©H0HoS™ 28 WEDE DMK Fo WP T,

C) ‘w3daS P& @I 56D 000 dersITvk.

d) ©HowWoS® Toks W8 DY o &S\ BFom rISRI0 IBH0B.

Which of the above statements are incorrect?

D TBS” J05 (80y) gyt Do Bo30&:
() abcé&d (2) b,c&d
(3) b&c (4) a&d

33-A



105.

GS1 Booklet Code | A

Read the following statements:

a Relativepoverty ismeasured by gini coefficient and lorenz curve methods.

b)  ThePublic Distribution System (PDS) isineffectivein reducing the poverty inAndhra
Pradesh (united) and Tamil Nadu

c) Thepoorest of the poor arein Uttar Pradesh and Chattisgarh.

8ol Frgpgoy K508 ¢

ad 2 Ko (gini coefficient), & 3o& S K)cééoe) oo ‘F0E 5880’0 B8, 0SB,

b) eo@RadF (50y&), SFoed LS (e Hoed 3538 (PDS) EEEEN)
SR0E0S® dHgHogomr HIWVAHB L.

0) Do ©8 DETEH (98508 DETE) GEIHAT H000 FEHHE T Fod”
I E0.

Which of the above statements are incorrect?

D TES 05 (82y) gy Do Bo30os:

106.

(1) abé&c (2) b&c (3) a&hb (4 c&a
Disguised unemployment in Indiaismainly related to:

a  Agricultural sector b)  Industria sector

c) Rurd areas d) Urbanareas

(1) a&b (2) c&d 3 a&c (4 bé&d
P EEBI0S” BEYK) IDLE’GAE Bod F783S° IBE Howodo §dA woh?

a) SgdFos Soro b) &BErE Sorko

C) (e (Fozen d) $&Le @rosren

(1) a&b (2) c&d 3 a&c (4 bé&d

107.

P12

Read the following statements:

ad The difference between total expenditure and total revenue is known as ‘revenue
deficit’.

b) Thedifference betweentotal expenditureand total recel ptsexcept market borrowing
and other liabilitiesistermed as ‘fiscal deficit’.

c) Thedifference between fiscal deficit and interest payment during the year is called
primary deficit.

8ol Frgpgoy K508 ¢

a) Dogo Hgof0, Ingo Tad HEg BER) VIKrg S0’ @otrd.

b) Sgo 55080 50000 ST E Kegren $050 BSE wIYL B Ingo Tk Sy
BTQ) BIIEE S0’ wolrdd.

C) 28 J05&B0S® FFIERL S Lodasw 26% BOoDo Hodg B0 FEWE St

@0 &.
Which of the above statements are correct?/ 3 o°3e5° $08 Trgpgesy JoDE Bokod:
(1) a&b (2) b&c (3) c&a (4 abé&c
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Which of thefollowing taxes are withdrawn or abolished?

a Octroi b) Interesttax

c) Gifttax d) Estateduty
(1) a&b (2) c&d

(3) ab&d (4 b,c&d
8od a7¢3e5* QG SESISEESRE @K)og"sado B Jadowd?
d oEo® b) 3& 5%

C) AR I8 d)  IRE dorgdd
(1) a&b (2 c&d

(3) ab&d (4) b,c&d

109.

What is Cash Reserve Ratio (CRR)?

(1) Thefraction of the depositsthat commercial bankslend to the customers.
(2) Thefraction of thedepositsthat RBI must keep with commercial banks.
(3) Thefraction of the depositsthat commercial banks must keep with RBI.

(4) The fraction of the deposits that commercial banks must keep with the central
government.

‘S dege A8 (CRR) 908 20e3?

(1) wreodHodh srdag ergofoen o8 dredy Sod wdym ad) erio/Fdo.

(2) orBag ergodoe $& erdd Daddg ergoh S8 dred) ok EHE erro/Fdo.

(3) RBISg S9000m aredesg ergosoen S0 darad) Sod o g erfo/Tgo.

(4) B0 Wehdggo $& SHII8M reBag ergodoen S drad ook o g
erlo/3 0.

110.

P12

A double entry system of record of al economic transactions between the residents of a
country and rest of theworldiscalled

(1) Termsof trade (2) Baanceof trade
(3) Baanceof payments (4) Baanceof exchange

28 B Qarddoen 000 PHoTS A adtho ¢y 207 o) vlE sigiorarod dad
Qo AT E0S* 85°F WATR) B0 E?

(1) 388 dexogSen

(2) %388 %0

(3) og>rd BYoYo ko

(4) DAL FHo
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111. Which of the following statements are correct?
a  Thechairman of Public Accounts Committeeisawayschosen from ruling party.
b)  Thechairman of Public Accounts Committeeisfrom opposition party.
c) Thechief function of Public Accounts Committeeisto examinethereport of CAG.
d) Thecharman of PublicAccounts Committeeisappointed by theVice President of India.
(1) b&c (2) a&b 3 c&d (4) a&d
Bod gpges® SOOI J?
8  PErHde S8 wEgiid o) e WEEE P8 BodST .
b) Berdie E08 et BoNE F08 Boddard.
C) I (s°A) AIBED H08O0BAD Herde EME Sopg I,
d) ESE=RANTS) E0¢3 STAI NN GHTADHHT A 0HES %o

&/

(1) b&c 2) a&b (3) c&d 4) a&d

112. Consider the following statements with regard to police reforms:
a National Police Commission was setup in 1977.
b)  PoliceAct Drafting Committee was headed by Padmanabhaiah.
c) Ribeiro Committee was appointed by the Government of India
d) Dharamvirawasthe chairman of National Police Commission.
PO H0) eesd Ho20H0N Bod HELSLK HBKBoWoR:
a) @80 FOD EnAs 1977 &° Joytn Dabwdod.
b) 0D $¢y Sodronm 038 BTy ©EsE®E.
C) ODE EE erdd Hehestn AchoNos.
d) 8ok FOS NS SgHE §856.

Which of the above statements are correct?/ o 5°&8¢&° $38 Frgpgen dD?
(1) a&hb (2) a&c 3) a&d (4 c&d

113. Which of the following statements are correct?
a  SB.ChavanwasDeputy PrimeMinister in Charan Singh’s Government.
b) Devi La wasdeputy PrimeMinister in National Front Government.
c) Y.B.ChavanwasDeputy PrimeMinister in Chandrashekar’s Government.
d) Thereareseven Deputy PrimeMinistersso far.
(1) abé&d (2) b&c (3 ab,c&d (4) bé&d
Bod TBS® HBS TgPgen A?
Q) S5 DOA HHSENS® ID.D. I e BER.
b) =805 HoiS BaNSBNS® B oS b BR.
C) SIS HHSHENS® B.D. FFS & BFI.
d) 208385 NS D Herdoen Sod.
(1) abé&d (2) b&c (3 ab,c&d (4) bé&d
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Consider the following statements:
ad Indian police serviceis constituted under Article 314 of the Constitution
b) ‘Publicorder’ and ‘police figureas1 and 2 respectively in statelist.

c) Under entry 60 of theunion list, the centre can extend Jurisdiction of police force of
one state to another state.

8ob argpgod H8HBoKod:
d rd8 oergod 314 HESSn HPEESNMT [0scHS FOD 16D IS8,

b) orergorSns® oog rders” 1 $odasn 25 wodsnwom FOD edb $dakn FOT
QAGDHI0L0 &HD.

C) 3o wdes® 605 woddom wf oo FOD womre H0HI IFE 0P INIKH
SO0 IYBOTHEY).

Which of the above statements igare correct?

D TEST HORBIB(D) B(AD)?

() a&b (2) b&c
(3) a&c (4 a

115.

P12

Consider thefollowing statements:
a Preventive Detention Act wasmadein 1950.
b)  Unlawful Activities Prevention Act isinforce since 2004.

c) In Gopaan v/is Madras Government case, Supreme Court stated that preventive
detention acts can be made.

o8 Trgpgody DdNedotod:

a) I8 &BIS $LI0 1950 &° BoabSs.

b)) oSerHS Br§IBs @ILS wWigsn 2004 Kood woens® B¥)d.

C) Rros S0 DER HeHdr $S° oo 56 RB08S ABIS Siren BoSED
D&Y HB.

Which of the above statements are correct?

D TES* HBS Fgwgen 2?

(1) a&c (2) a&b

(3) b&c (4 abé&c
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116. Matchthefollowing:

a)

b)
c)

d)
8o&

a)

b)
c)

d)

Amendment Subject

8th amendment i) Placing land reforms act in the 9th
Schedule of Constitution

19 amendment i)  Increasein professional tax

29t amendment 1) Extended the period of reservation of
seatsin Lok Sabhaand Statelegidative
Assembly

60t amendment iv)  Abolishion of election tribunals

T BEIGHo&:

PeTet-r) POISToNS I

85 ¥58e0 1) el o) dere Whbwesy Trergortn
95 eSS Byt

195 d58e0 i) )8 939 oY

205 358 1) &% def Sodasw o°g 9:9?0022066
02300AS sTOH0 FPAA0Y

605 3580 V) Qe BargdS 88

The correct answer is/ 0% doeardoo:

(1)
(2)
(3)
(4)

a b C d
i iv [ i
i iv ii [
iV [ i i
i i iV [

117.

P12

Which of the following statements are correct?

a)
b)
c)
d)
8o&

a)
b)
c)
d)

(1)
3)

Constituent Assembly was suggested by cabinet mission

Thefirst amendment to Preamblewas madein 1975

1919 Government of IndiaAct separated state budget from union budget
Indian IndependenceAct was approved by British Parliament on July 15, 1947

TGOS’ DTS A?

Tergoll H0%E0 JrDoNIB SgDIES DS

©338L 1975 &° F00&8¢3 5580 BO00dIE

1919 &° 88 (Hehds ey S0 2GS Jood org RS JEBRDI
ES FgBoldy WEHH D8R HehESn eIrH0AS Sw 8 15, 1947

a&d (2) b&c
c&d (4 a&hb
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Supreme Court had exercised judicial review authority in:
(1) KeshavanandaBharathi case

(2) MinervaMillscase

(3) Shankarprasad v/sUnion of Indiacase

(4) Golaknath v/sPunjab Government case

oo 5 g DTS T INELT GHRPACDIY:
(1) S¥S0d ardd argagaion

(2) 8og Q&) argeghsn

(3) %088 PFE SO EE BIrITDS Frgeegn

(4) oS SOy Howrd (920Ee argesgsan

119.

Which of the following statements are correct?

ad  Thefirst mobilecourt was started in Haryana

b) Theexecutivechairman of National Legal ServicesAuthority isJusticeAnil R.Dave
c) Article40 providesfor freelega ad

d) Lega ServicesAuthoritiesAct wasenacted in 1987

() abé&c (2) abé&d (3) b,c&d (4) a&d

Bod TgpgOS® HORED A?

a o3 dowrd FZONF Q) FE0PoNIE TrorgI” (7"@50@51s

b) IASS OKS DO 05083 SESATCIE WEgEk 2J0 ©AS ©b. T

C) (880 400 ©Hbd0D GNE rgodd HFPA[0 EDY0DEID

d) OKS $6¢20 wrod wWisn 1987 &° EQoHEIS

(1)) abé&c (2) abé&d (3) b,c&d (4 a&d
120. Prevention of Cruelty to animalsin the Constitutionisin:

(1) Unionlist (2) Statelist

(3) Concurrent list (4) Residuary powers

22080 270D B0 Oreg 050657 D oS &5?

(1) So& =i (2) og =as

(3) &b =g (4) oSIrdstoren
121. Identify thewrong pair

(1) Adamgarh- MadhyaPradesh (2) Bogor - Rgastan

(3) Sara Nahar Rai - Uttar Pradesh (4) Baghor - Bihar

& 1808 T°AS® A& DO wond 28 57

(1) s8o066 - Sodg ©IT (2) &7 - omyS

P12

(3) %oron 356 o°o% - GES HET (4) o6 - 56
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122. Matchthefollowing
List-1
(Indus sites)
Mohenjodaro

Harappa

Rangapur

Kot Diji

TPE3Q 23880 800!
TS - |

(Dogy 088 HIFI0e)
SOV FSATer i miloN
@63‘5

(€) Soirs

(d) 8&¢ &=

The correct answer is
BOFIS BIPFSH0

(@
(b)
(c)
(d)
8o&

@
(b)

GS1

Booklet Code

(i)

(i)
(iii)
(iv)

(i)

(i1)
(iii)
(iv)

List - 11

(Features)

Discovery of the Rice husk
First Indus siteto be discovered
ThelLargest Indussite
Thesitewasdestroyed by Fire

L& - ||

(o8 erd0en)

568y ©HoIIH

VoG THOESK S S) Il WAFo
OB VEE00S ogr FH0ES ©DaFo
®f) o TES0 TGS HIFo

@ O (©

@ Giy Gy @ (v

@ Gy @ v (i)

@ 0O Gy (i) ()

(4 Gv) (i) @) @)
123. Assertion (A) : Thereisno conclusive proof of the templesare public places of worship

inthelnduscivilisation.

Reason (R):  Tothelnduscivilisation peoplereligion was perhaps more apersona and

private matter than apublic affair.

The correct answer is:

(1) Both(A) and (R) aretrue and (R) isthe correct explanation of (A)
(2) Both(A) and (R) aretrue but (R) is not the correct explanation of (A)

(3) (A)istruebut (R) isfalse
(4) (A)isfasebut (R)istrue

P8ISS (A): 208> TH0ES o8 H& ITHINOH PENODOT BTroddnes 52

Puoos® §0 U@l B (@FPosSnen 5°J wego 5B

80 (R):
S ddrerdo ¢

VOG> IPNBES Peody o ég_épﬁéo 50 o S)rs“’ogéo 9’36&.330&

(1) (A) 005 (R) dzo (R) (A) & 58 wond 255w
(2) (A) 08050 (R) Bodr dzo 53, (R) (A) & 538 958w 5

(3) (A) dz0 50 (R) 59
(4) (A) &3 & (R) deo

P12

40-A
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124. Which one of thefollowing statementsis not correct about the ‘ Battle of Ten Kings ?

(1) Itwasfought between Bharatasand the Puruson the banksof river Parushini

(2) Bharataswere headed by Purukutsawhilethe Puruswereled by the Sudas

(3) Bharatas emerged victorious despite the help given to the Purus by several other

tribes

(4) ThevictoriousBharatasand Vanquished Puruslater combined to formthe‘Kurus
DBD0H Trere’ IS HowoHoDS & 808 PIVSENS® IB BOWaN0H F.

(1) "FES 508050 Y&’ Be By & o VKA & wid 20h08

(2) ‘P88’ BKK Hrérdoch $080%0 Y& KK Doard IS0 HroBI

(3) @8 8LDE den YW BE DTF0H0 WoBODIHBS TS BKS D2cdn FHoN0E
(4) Sngo So7gd Dz2df0 FHODS WSS’ BH K000 LG0DES Y& Bifwn EOVIF0N

‘K% B @3&)6@)&)0&5"0&3

125.

P12

Match thefollowing
List - |
(Officials)
(8 Vraapat
(b) Sangrahitri
(c) Jvagrabha
(d Madyamas
& 1808 A BSHSWH0:
DS - |
(w8 8e0)
@ G=38
(b) JoEer®
(c) B35
(d) Socsgdord
The correct answer is
BOFIS BIPFSH0
@ ® ((© (@
1 Gy @ Gv) (i)
2 (v @) @) (i)
@ @) Gy 0 (v)
4 @) @) (i) (v)

(i)

(i1)
(iii)
(iv)

(i)

(i1)
(iii)
(iv)

41-A

List - 11

(Vedic period)

Police Officia
Treasurer

Mediator in disputes
Incharge of pasturelands

S - ||

([%z°00)

DFOD w50

PP HS°O

MPToH H0Y 00T ©§s0

LHrdo 0o gPrde éégSés@ 0558



126.

GS1 Booklet Code | A

What wasthe original name given to thefollowers of Mahaveera?

(1) Jainas (2) Arhats (3) Nigranthas (4) Kevdans
S0FAKHD S0t ©980080W TOI INGL @ DHS® DewSNdIE?
(1) Boew (2) o8& () dBogoen (4) SHoden

127.

Which one of thefollowing statementsis not correct regarding Buddhist nuns.

(1) Buddhist Sanghawas not open to pregnant women

(2) Without permission of Parentsor Husband, women can’t enter into Buddhist Sangha
(3) Mothersof unweaned children are not permitted

(4) After obtaining age of 16, women can enter into Sanghawithout anybody permission

23"%5p D8 dod (dargddedd) dowodod Q PS80 H0®Wondd 57K

(D HED8M Kois) é?, T°E DoH0S® DI S Tren

(2) &G BopoBnd” BITIE 980w BHHBMA, DY) vond B8 &I VKB
EJ0M wowd

(3) SPDYoL 95 98 F'¢ Jodns® HIFo Bk

(4) @ 16 B05&)oren SYS o758 IH0 @8 BowS TG HodoBns” D378

8 TP
oJ®

128.

P12

Match thefollowing

Group - | Group - 11
(@ VinayaPiteka (i) Birthstoriesof Buddha
(b) SuttaPitaka (i) Codeof conduct for Buddhist monksand nuns
(c) AbidhammaPitaka (ii1) Sermonsand Sayingsof Buddha
(d) Jatakas (iv) Philosophical interpretations
& 8od TB BSHK80:

TS - | e - |
(@ 0% Hedo (i) 208 2d) $)E085058 ©0220500S e
(b) 208 Hergo (i) &¢ DYoo S8 darghowd

©I300NOWINS SrgadHE dor@doed

(€) ooy deago (i) 20¢50 @08, HIBEI0e $oB%H B SSen
(d) o888 Qo0 (iv) &8 Do855 H0w080DS GHTFS0e

The correct answer is
BOFIS BIPFSH0

@ B («© O
x a @) (i) o (v)
@ @) v Gi)y ()
3 i) (@) v ()
(4) (@)  (v) (i (i)
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129.

GS1 Booklet Code | A

Which one of thefollowing was not feature of Ashoka s Dhamma

(1) Prohibition of animal sacrifice

(2) Human treatment of servants by mastersand prisonersby the Government Officials
() Strict Non-violence must befollowed by the people

(4) Replacement of sound of wardrum by sound of peace

& 1808 TS A& ©F°E B0y H0220800S wE00 57

(1) =zodhHho 28 Jago

(2) HAT0HE chasordoen, @éoé% e08r whs e 58550l X LT
(3) Pzwos Frdm wirods Fowrd

(4) ‘BgPO® FHH0S" TodFo @raois

130.

Which one of thefollowing literary works gives usinformation about the political history
of Sathavahanas

(1) BhasdsSwapnavasavadaita

(2) SomadevasKathasaritsagara

(3) SudrakasMricchakatika

(4) VagjikasKaumudi Mahosava

& 80 TS A (HoFHn TETIHe Bwg) Tescdh SBBK Beo)Bod
(1) ereod Dg)arddse

(2) FLTHD Seddoerido

(3) HrE380 S0)ef)8¢380

(4) 555 THNd K&F*S

131.

P12

| dentify thetwo saintsonefrom ‘ Nayanar’ and another from‘ Alvars' belongsto untouchable
community during Bhakti Movement in South India.

(1) Nambi Andar Nambi and NammaAlvar
(2) Sabandar andAnda

(3) Nandanar and TiruppanAlvar

(4) Appa andTrimalisa Alvar

860 erESTF0S” B8 G gHodn MHBHS® & 8od FPO0TEY $08050 BFEeS” AHED
®otTrd 88 RoBII G K280wnH0

(1) [0 @omrd $od 508050 50y we¢s
(2) DeFogE 508050 somS

(3) SodarS HoBasn 8D wegd

(4) @98 05w @S5rdron wed
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132.
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Match thefollowing

Group - | Group - 11
(@ Aghvagosha () ‘Mudrarakshasam’
(b) Bana (i) Sariputraprakarana
(c) kalidesa (iii) Kadambari
(d) Vishakadatta (iv) Maavikagnimitram
808 T 2EHKTS0:

DS - | D& - |
() @dHstoc (i) Sororgdsm
(b) ereancho (il) =BHYY V&S0
() =90 (iii) s*Soe0d
(d) Ddapasyco (iv) Srddsmdogo

The correct answer is
DOGS DT SH0

@ by () (d
v @iy @)y @y ()
(2 (@Gv) (@) (i) (i)
Q) (@) (i) @v) ()
4) @ iy  (v) (i)

133.

P12

Assertion (A): The practice of ‘Sati’ was prevalent among the higher classes during
Harsha speriod.

Reason (R):  Harsha smother committed ‘ Sati’ after the death of her husband

The correct answer is:

(1) Both(A) and (R) aretrue and (R) isthe correct explanation of (A)

(2) Both(A) and (R) aretrue but (R) is not the correct explanation of (A)

(3) (A)istruebut (R) isfalse

(4) (A)isfasebut (R)istrue

B8LS (A): TR Tosns” aHE SEdnen B8 ewrdSnds 8IS FLoBT

80 (R): 88 PG Soderrdoddo TR SO IBITHHSH508 FEoNod

KBS BIPEEB0

(1) (A) 08030 (R) 3o dz0 (R) (A) & 2000008 D580

(2) (A) 8050 (R) Bodr dezo, 57 (R) (A) % 50@008 IS8 5760

(3) (A) dzo 52 (R) 85y

(4) (A) 859 523 (R) dzo
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134. Who built thefamous‘ Jagannatha Templ €' at Puri

(1) KapilendraGajpati (2) Purushotham Ggjpati

(3) Anantavarman Choda (4) Banudevavarman Choda

PBST whIE BarewddH TS IH58?

(1) €280 Kedd (2) HSJES Kedd

(3) @S0858) 'cs (4) erSBI8E) &'
135. Oneof thefollowing was not aauther of JainaPuranas

(1) Ponna (2) Namna

(3) Ramna (4) Pampa

& (800 T°0S° DK BS Horeadneld (3cBEd

(1) & (2) 38

(3) &% (4) %Hod

136. What isascending order of the following admnistrative units of Cholas

(1) Nadu, Vaanadu, Mandalam, Kurrams

(2) Mandaam, Nadu, Vaanadu and Kurrams
(3) Kurram, Nadu, Valanadu and Mandalams
(4) Kurram, Mandaam, Vaandu and Nadus

TPHO 5005 DO Jeridvod e iraESomr Kdowdn
(1) ook, Soard, odewo KB PoBden

(2) Soodewo, T, Sodrdd 0800 PoBten

(3) o0, TrK, SoTdy K08 Sododnen

(4) o8R0, odkeo, STk H508asn Jrdoen

137. Who among the foreign travellers visited Vijayanagar empire during the time of

AchyutaDeve Raya.

(1) FernaoNuniz (2) Nicolo de Conti

(3) Domingo Paes (4) DuarteBarbosa

& (808 TAS'D Q AVY BF@d Vg VBHT OO 500" DecSKE FrBrreghnd
So&BoBL.

(1) oS SogdE (2) I5s® & §odd

(3) @of® DD (4) Souf rSydr

P12 45-A



138. Matchthefollowing

GS1

Group - | Group - 11
(@ Al-Beruni Tughlag Namah
(b) AmirKhusrau Tarikh -i- Firoz Shahi
(c) IbnBattutah Qanun-i-Masudi
(d) Ziauddin-Barani Kitab-ul-Rehla
& 1808 I BSHBTH0:

DS - | DS - |
(8 oS BEF &i§ o
(b) ©XD& podee &8H-2-26°8 e
(C) =22 2érdd PITPS-9-03078
(d) =oSresdS 08 8- &S0
The correct answer is
SIGIeSER RS SIS I

@ ()
1 0 (i)
(2 @)y @)
(3 (v) (i)
(4) (i) @)
139. Matchthefollowing

Group - | Group - 11

(Sufi Sect) (Founder)
(@ TheChisnti Shaik AbuNgjib
(b) TheSuhrawardi Bahauddin
(c) TheQadri KhgiaMoinuddin

(d) TheNagshband

808 TR BSHEHB:

DS - |
(3% )
@ 23
(b) oSy
() &
(d) &52008
The correct answer is
BOFIS BIPFSH0

@ b
(L am -
(2 )
(3 (i) (i)
@ (i) (V)

P12

Shaikh Abdul Qadir Jilani

& - ||

(F5505)

0 wan $B8S
SRR

w8 wepd rdb 2l

Booklet Code




140.

GS1

Which pair isnot correctly matched
(1) Tomb of GesuDarg] - Gulbarga (2)

Booklet Code A

Madarasaof Mahammud Gawan - Bidar

141.

(3) ChandMinar - Daulatabad (4) SolahKhambaMosque - Bijapur
& 808 T°S® IO BB ol 2 57
(1) 6B Sor& 3578 - ey (2) 055078 K8 S8 - HSE
(3) @o& &b - Toserd (4) e Sodf H0dcH - Derdyrs
Match thefollowing
Group - | Group - 11
(@ Meeraba (i) Keertans
(b) Tukaram (i) Bhgans
(c) ChatanyaPrabhu (ii1) Abhangas
(d) Kahir (iv) Dohas
& 1808 I BSHBTH0:
DS - | D& - |
(@ Doorerow (i) 883en
(b) &osrordo (i) ef=Sen
(C) BSSg Wed (iii) eogorren
(d) 856 (iv) &Ssen

The correct answer is/ 588308 &S50
@ O ©

@ Gy @ iy (v

@ iy @ ) ()

3 Gy iy @) (v

@ @ a) @) )

142.

P12

Which one of the following statementsis not correct about Akbar.
(1) During Akbar’s tenure a trandation bureau was established for translating Hindu

Religious textsinto Persion

(2) Akbar accorded permission to the Christiansto build Churchesat Agra, Lahore and

Thatta

(3) Akbarissued afirman abolishing the custom of endaving prisinors of war, who were

convertedtolslam

(4) Akbar constructed afamousbuilding ‘ Ibadatkhana’ at Fatehpur Sikri intheyear 1580.
& 800 DIVHI00S" 9E)EE H00HON B PO Bo0d 57
(1) %5 0rod 5700s" rodr S8 (HodSnody HO0HS erAS ™ @l do Bkt

‘oloTd wrgs” fDG‘béoo ©02008

2) e, nSTE 508050 GEreS® B8 Soddoen FO08 98108850 WEE T708 ©H5050d
1 DO 159 2 2) & A

K)B{)ESJ

(3) oﬁ;ocg@._aoiéo QDT S0y TS 90 HB0S 8 $7F) DEBI 8y Bdx w06

& &8ce0erd Tl

(4) 1580 d058)80e° HBYE VBS® ©¥6H RerdSra @ FH5550 Jdjouwwdod
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143. Matchthefollowing

(@)
(b)
(c)
(d)

Group - | Group - 11
Shersha’'sTomb (i) Sasasram
Humyun’sTomb (i) ShahadaraBagh-Lahore
Akbar’'sTomb (iii) Dehi

Jahangir’'sTomb (iv) Skindra

& 1808 I BSDHBTH0:

@
(b)
(©)
(d)

DS - | e - ||

Hoe SE70 (i) o5

TOSrSrS DS (i) dFmorerh - o6
o6 578 (iii) &9
2IroAS JHXor® (iv) 8o

The correct answer is/ 588308 &S50

(1)
(2)
(3)
(4)

@ ® @© @
i @iy (v) (i)
iy @ (v (i)
(v) (i) i) ()
(i) v @) (i)

144.

P12

Which one of the following chronological order is correct about the Sikh Gurus

(1)
2)
3)
(4)

Guru Nanak, Gurur Angad, Guru Amardas, Guru Arjundev, Guru Ramdas, Guru Har
Gobind, GuruHari Rai, Guru Hari Kishan, Guru Tej Bahadur and Guru Gobind Singh
Guru Nanak, GuruAngad, GuruAmardas, Guru Ramdas, Guru Tej Bahadur, Guru Hara
Gobind, GuruHari Rai, Guru Hari Kishan, Guru Arjundeve and Guru Gobind Singh

Guru Nanak, GuruAngad, GuruAmardas, Guru Ramdas, GuruArjundev, Guru Hara
Gobind, Guru Hari Ral, Guru Hari Kishan, Guru Tgl Bahadur and Guru Gobind Singh

Guru Nanak, GuruAmardas, GuruAngad, GuruArjundev, Guru Ramdas, Guru Hara
Gobind, GuruHari Rai, Guru Hari Kishan, Guru Tej Bahadur and Guru Bobind Singh

& 800 ¥y 08 HHOJo EIrSKwo H8 ©o0od JB?

(1)
(2)
3
(4)

Koo S8, 0 oK, HK @HEIR, HK VQITS, N TR, K TEFDE,
KoK S28070%, Hdd B8RS, KK BEwIrErs $o0a80 HK Aol
BEOTSE, D 0o, Hdh @HETR, HX THTD, H BE rdxs, Hd SR I8,
KoK 2007050, KK TO8AR, N WRIBS Hodasw K& AAoLvON

Koo S8, 0 oK, HK @HEETR, HK THTR, HK VRITS, K SEFDE,
Ko S28070%, K B8RS, KK BEwIrErd $o0a80 K Aol

Ko S8, 0 @HETR, HKh WoKE, HK QITS, KNI T°HTR, K TEFDOE,
KoK S28070%, Hdd B8RS, KK BEwIrErs $o0a80 HK Aol
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145. Whichfort wastook over by Shivaji from hisuncle Shambaji Mohite

(1) Torana (2) Kadyan (3) Supa (4) Javdi
3 35 ©@0oBS ol Foere I8 K0od 2 §Ld BB
(1) &S (2) Segeh (3) doar (4) =359
146. Matchthefollowing

Group - | Group - 11
(@ Portugese ()  Tharangambedi
(b) Dutch (i) Kozikode
(c) Danes (ii1) Nagapatnam
(d) English (iv) Chenngpatnam
& 1808 I BSHBTH0:

DS - | D& - |
(@) SFEAD (i) SBooerd
(b) &5 (i) =86
(C) @Sew (iii) oeeHeno
(d) =204 (iv) B&Hndeno
The correct answer is/ $50%os dSrerdsn

@ ® ( (@

1 a0 Gy (i) ()
(2 @)y @ (i) ()
(€) I (1) B (117 B (O B (1)
4 @Gy @0 Gv) (i)

147.

Who trandated thefamous Bengali play ‘Neel Darpan’ into Englishlanguage

(1) DinabanduMitra
(3) Benoy Choudari

(2) BankimchandraChatarjee
(4) Michel Madhusudan Dutta

Pl Bomr® Jrevdo Ao 656;)95’(‘63 aoéaﬁ: RS8N SBoNod

(1) &S=20080 e
(3) OSSR FEd

(2) 208& wWog wed
(4) DTS HGdrES

148.

P12

| dentify who one of the following Britishers not played important rolein Indian National

CongressbesidesA.O. Hume
(1) WilliamWedderburn
(3) SirHenry Cotton

2.2, PG SE0F e 2B SPORRS” $PGPGH AEErol OEBRES HGoEw

(1) DO Ikb06)
() %6 R s8R

49-A

(2) GeorgeYule
(4) TheodoreBeck

(2) =g %3
(4) BRrx6 BE
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149. After concluding Lucknow Pact, who of thefollowing wasgiven thetitle“ The Ambassador
of Hindu-Muslim Unity”.
(1) MohammedAli Jinnah (2) MoulanaAbdul KdamAzad
(3) SirSayyedAhmedKhan (4) M.A.Ansari
Ogil e.y080 ST, ‘i’?ocﬁr—:ﬁw?g& 0EgBLL 0705078’ @& DK K568 S0HRKD.
(1) So5ms ©d 2o (2) ST b Sora wrd
(3) X6 Jo%gh TGS (4) 0.0 w0
150. Civil Disobedience Movement wasformally suspended by Gandhi in
(1) June 1933 (2) December 1933
(3) February 1934 (4) April 1934
TOSTQODS G g5050080 mofed AP BB
(1) =~ 1933 (2) &wo=6 1933
(3) eS8 1934 (4) oe»sS 1934
151. Areyou ableto motivate yourself to do adifficult task?
(1) Yes/|ldo (2) No, but I motivate others
(3) Itisnot my job (4) Rarely | dowhen| havemoney
gRom HF) ddeds g BoHETAE SIS (L A AP qunsioT?
(1) oH (2) B, 0 as%ed Hm s
(3) o 5 586 (4) IYE 2830, I SHS Se) GBSy
152. | amusually ableto prioritizeimportant activitiesat work and get on with them.
(1) Yes/ldo (2) No,Idon't
(3) Basedonmy ‘mood’ (4) Onceinawhile
FEdeaomr S0PgRS & S8 (FPErdgd oSt Frg Bl
(1) oH8 (2) [oogBo
Q) & Hor& og (4) P& 28>0
153. Small children must get the support from parents before they do new task.
(1) Yes (2) No
(3) They don't know anything (4) None
D) DY ABS BF DA BFHHBKHvd, $dFode Do EHEom S TD.
(D) o5 (2) 3380 B&o
(3) TH% 2 BdahEd (4) & s
P12 50-A



154.

GS1 Booklet Code | A

If you call an unknown person over phone to get some information, is it necessary to
introduce yourself first?

(1) Yes (2) No

(3) Sometimes (4) Itismerewaste of time

S ¥ B0PFIS ISrTEB0 L, w8 ©I0AE Ig88 F Basrgd) ISR,
B000Gom QBO) > HBEGHO VRSB0 WIBEST?

(1) 33583 (2) 3380 B&o
(3) ©H9EHved (4) Sy ©osrd

155.

| received alot from society, | wish to give back to the society and help it, once | start
earning money.

(1) Yes (2) No

(3) Not necessary (4) Quiteirrational

I a0 $08 08 Fomrso, I Ky BoFHOUWEO FNELI VYT, DTS I
80A YW, dF*a0 By,

(1) o9 (2) s

(3) wod w3380 S (4) oo edoago

156.

In the present society, man fails to speak to the other person ‘face to face' due to the
following reason.

(1) Watchingtelevisionfor two minutes

(2) Sickness

(3) Lack of modernization

(4) Overuseof cell phones

BRE I8rz0S” 28 N R08E H588° ‘Soogrond’ 53°é{;<3§€5§53%é5°&)§ HO 5282980
QAoe3?

(1) Do davre Fd ErEEBAD oty Sl

(2) o586 Kgh0

() 5088 BEFS0

(4) DEFE vhorr o

157.

P12

| believe cooking isthejob of women and doing adventuresisthejob of men.
Am | thinking correctly?

(1) No (2) Yes

(3) Partidly (4) Youwill never bewrong

SoLB 0 sdTe) I, FTFEFS SHooo Fotwo HdTe) IO ©d I
S0y, I VBT eSTARYTYT?

(D) 8o (2) wH%0

(3) &>rggom (4) Y e Q) 5o
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GS1 Booklet Code

What could be the main reason for the decline of female population in our country?
(1) Eradication of poverty

(2) Literacy

(3) Matriarchy

(4) Femaefoeticide

B08BFoeS® é’_op Bomg KOO SAFDL,IE S0PGIP 5°CeaH0 INE?

(1) 5085 oS

(2) ogodgs

(3) Segydgsogo

(4) esdEire SEgen

159.

In our country, the upliftment of ‘weaker sections' isinthehandsof the...........
(1) Voluntary organizations

(2) Neghbours

(3) Government

(4) Friends

508BI0S® ‘word ST w8 ¥IH IS0 VES® GHB?

(1) Bgehocs éo{gw

(2) @SS

(3) ©ede&gs0

(4) )erdoen

160.

P12

“Knowing othersisintelligence; knowing yourself is 3

(1) Wisdom

(2) Sin

(3) Impossible

(4) Egoistic

"33 e H00D BendEHL0 BIB 8O, J HO0D I B S0 ©oB
(1) xS0 (2) %o

(3) erdgo (4) ©HoerdERNSH
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161. Identify thewrong pair.
(1) Wanaparthy Samsthan - Janumpally Family
(2) DomakondaSamasthan - Kamineni Family
() PalvanchaSamasthan - Machirgu Family
(4) Koallapur Samasthan - Surabhi Family

08570 w8l ook,

(1) 5858 doydo - 28005 Hodo
(2) &oFos 50@(;260 - IV HoFo
(3) regows JoFpso - Srdorer Sodo
(4) ETeorirdd Sopso - BodY Sodo

162. Matchthefollowing:

Group - | Group - 11
(@ B.NarsingRao (i) Chillaradevullu
(b) B.S.Narayana (i)  Kubusam
(c) Srinath (i) Nimagjanam
(d) T.MadhavReo (iv) Mabhoomi
& 1808 I EHSWS0:

DS - | D& - |
(@ B.3gyolkoD (i) D8 BHN
(b) B.S.>rorcde (if) oendo
(c) 3~& (i) Qdogdo
(d) T Srgd0° (iv) Soeesoro

@ (@® (@ (@
(D @iy diy o @) ()
(2 Gy @ v (i)
@ @ v () (i)
4 (Gv) @) di) ()

163. Identify the correct pair
(1) Nikhileswar - Maro Ramayanam
(2) Gadiyaram RamakrishnaSarma- ShataPatram
(3) AllamRgaiah- GayapaddaRatri
(4) AvvulaPichaiah- Sagatu Jeevi
KBS 2EK $200wK0
(1) P84S - K8 ordorafomo (2) H&osrdo Teodyn 98 - F8DEo
(3) oo Traohyg - AN OB (4) oo vFohg - e B
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Match thefollowing :

Group - | Group - 11
(@ Vedkumar (i) TdanganaNyayaSangramamu
(b) Gopi Reddy Chandrashekar Reddy (i) TelanganaHistory Society
(c) TadakamdlaVivek (iii) Pranahita
(d) AllamNarayana (iv) DeccanlLand
& 1808 A EHSWaS0:

DS - | D& - |
@ 3I& BS5rs () Beome orgad dorsoo
(b) FuoG Wos3Tws 3G (i) Boomrer rgd 8
(C) Su8Hhe IIF (iii) | reores
(d) 9o srorases (iv) &§S erob

@ ®@® (@ @
(G T (11 B () N (1) B (1Y)
(2 (v @) >) (i)
3 (i) i) av) ()
@ @ @y (i) (i)

165.

Who among thefollowing submitted amemorandum to Fazal Ali Commissionin July, 1954
when it cameto Karimnagar requesting for Vishalandra

(1) AnandaRao Thota (2) NookalaRamachandraReddy

(3) K.Jayashanker (4) Kaloji NarayanaRao

28, 1954¢5° 86035668 SIS HuS ©d LU DT oG AT BoHD &
QDI DE°Q) 3B508)oV0BIL

(1) esSodory & (2) 8o ooSoBomBg

(3) 3. wc%%086 (4) =6z IorcHTy)

166.

P12

Which of the following Statementsis not correct with regard to gentlemen agreement.

(1) ToobtainjobsinTelangana, the Mulki rule hasto befollowed.

(2) Selingand buying of agricultureal landsin Telangana should be under the control of
State Home Ministry.

(3) Tolook after theoverall development of the region a Telangana Regional Committee
should be appointed.

(4) Among the Ministers 60% should be from Andhraand 40%from Telangana.

DE Ho0e wDOTAE Ho0HON Bod PITVTS® KOG 2.

(1) Boorers® G&gre §E5H Snd) drend wdddowd.

(2) Boomrers® grdoen ©30)t60 H08A%w Fd0 Trly Wm0 @Sy e60850&° 2EM.

(B) & @rod B wHID HEgHES Bomn @od8cl S DGHM0TO.

(4) Soohoe® 60 TFo o Hod S0dasw 40 THo Bwomrs ok GoFd.
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167. The 10t July, 1968 was observed as
(1) TdanganaHakkulaDinam (2) TelanganaporataDinam
(3) TelanganaHaamedaDinam (4) TelanganaKorikalaDinam
10 2=8, 1968 & 30058
(1) 8Boworre SEyodS0 (2) Boomre Foriaddo
(3) Boormrs Hewdlo (4) Beoorrs §880&S0
168. Inwhich of thefollowing places’ Telangana Pranthiya Samithi’ wasformed.
(1) Hyderabad (2) Pdwancha (3) Warangd (4) Nlandu
BoBTBS® JFoBosS® ‘Boome o8k S8’ oyt Bobadod
(1) rdorerdd (2) &rogows (3) S8oKS (4) 2agodkd
169. Onwhichdatein 1969 Mr. KrishnaMurthy started fast unto death at Palvancha

(1) 8" January (2) 9" January (3) 10MJanuary  (4) 11t January
1969 &° o 8L regoies® BRHrd oI $38 wdn JTHE OF ohomrid
(1) 8 358 (2) 9 358 () 10, =558 (4) 11 =358

170.

Assertion (A) : The State Government failed to impliment safeguards given to the people
of Telanganain the gentlemen’sagreemnet.

Reason (R):  1n 1969 students and youth thought securing the seperate stateisthe only
solution to their problems.

The correct answer is:

(1) Both(A) and (R) aretrue and (R) isthe correct explanation of (A).

(2) Both(A) and (R) aretrue but (R) is not the correct explanation of (A) .

(3) (A)istruebut (R) isfase.

(4) (A)isfasebut (R)istrue

P8ISS (A): gHde wdyodos” Boomn Waesh S oy vl
Bodgoes® ehgo DHeoonod.

s°8mo (R): 19695° dargdzen, cSanSsowd B8gE o) FHoWEHED S
é:éoéaq;o&)ozoéfﬁé é@ﬁf’&do @ 2o .

08 ddoeerdo ¢

(1) (A) S08050 (R) Bodr Sg8rssomr ¥3&8a, 08k (A) & (R) 808 dddeo.

(2) (A) L0800 (R) Bodr Sg8Kgom 082, 522 (A) & (R) $38 dh8e0 s°ck.

(3) (A) Qo 572 (R) 893,

(4) (A) 85y 52 (R) dzo.

171.

P12

| dentify the correct pair

(1) J.Eshwaribai - CongressM.L.A. (2) T.N. Sadalakshmi - Deputy Speaker
(3) SumitraDevi - JanasanghM.L.A. (4) Shantabai - Republican Party M.L.A.
KBS 288 HHBoB0

(1) B. Siddaron - oRD T0S Sabgew (2) B.0HS. dwofy - Birgd )86

(3) LEBD - wdBo TOSVAge0  (4) Toergrow - OIDESFY TOSHLDg
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Who among thefollowing headed the full bench of the Supreme Court which set asidethe
GO.No.: 361n1969.

(1) JusticeD.P.Dhar (2) JusticeR.S. Sarkaria
(3) JusticeM.C.Chagla (4) JusticeM. Hidayatulla
1969 &° @.8. 36 & YIS DR0ETE HSBoW WHHE IS

(1) =% &2.5°6

(2) 22D ©6.05%.507 805>

(3) =J° D, wom

(4) =38 5. TEcEdL

173.

Which political party wasthefirst to passaresol ution requesting the Government of India
to form the Telangana State in 1969.

(1)) Communist Party of India (2) SwatantraParty

(3) PrgaSocidlist Party (4) Janasangh Party

19695° o oradah & Beomes ToLR) JTNLWTCHR GES (HebeR) Fdr Somyso
D08,

(1) =88 ESorgd > (2) dgs0i8 >
(3) o FROY > (4) =380%0

174.

P12

InApril, 1969 the Central government appointed aCommittee headed by Justice Wanchoo
and two membersto study the problems of the Telangana empl oyees and suggest solutions.
Who were the other members.

(1) M.C. Setawad and Nerende
(2) R.S.KhannaandH.N.Misra
(3) M.B.Desa andM.C. Setawad
(4) NerendeandAjay Mathur

oo & gy ddge wEgohso B Hoar) e drdodocdy 1969 ADSS*®
'650@@3539550 a?gﬁ PO ORI agdo '&éc‘ﬁéeﬁogo@ﬁ DB 000N 0B. e acgdo
58505 BE.

(1) M.CroSar& 08050 I00k

(2) RS a7 $8080 H.N. @

(3) M.B.370n L0830 M.C. ueoSaE

(4) V0@ 508050 GRDHIFErE
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As part of the agjitation for separate Telangana State17t" June, 1969 was observed as

(1) YouthDay (2) Senior Citizen'sDay

(3) Women's Day (4) Farmer’'sDay

©8g8 Boomratg wdgHhos® erfor ens 17, 1969 d8Som 288075,
(1) oS58 &0 (2) SRrSyke dSo

(3) Soorge Lo (4) oo &S0

176.

By which G.O. theAndhra Pradesh Government released Article 371 - D in October, 1975.
w88, 1975¢° 3 GO. T50° wo@RAT Webedto dES 371 - D ddode Bdod

(1) GO.No.-671 (2) GO.No.- 672
(3) GO.No.-673 (4) GO.No.- 674

177.

Inwhich year the Government of Andhra Pradesh declared Jagityal and Sircillaasdisturbed
aress.

SOFWBET Wehdio @ JoSHToS® hcrge HHOWEN JOVYLH ETOE (Fosrwom
ESELSTTALoIA
(1) 1977 (2) 1978 (3) 1979 (4) 1980

178.

The State Government lifted the ban on People' swar group in 2004 to facilitate
(1) TheNaxalitesto Join mainstream

(2) Takswiththe Government

(3) Tohaveadatabase of the Naxalites

(4) Torehabilitatethe Naxalites

2004 * or g e dso %359)@%5"5 Brd) 2 dago A8320d

(1) S§Ben 25258 ©H08S° Sodm8

(2) ©ahdros” SGesdo

(3) S§BLB 202080DF HIFTEIE SASTEHTW LGS

(4) 3§HBLS HSoardo §9yoTeookdd

179.

P12

Which Chief Minister abolished the Telangana Regional Development Board

(1) K.Vijayabhasker Reddy (2) N.T.RamaRao

(3) N.ChandrababuNaidu (4) Y.S. Raasekher Reddy
BL0mw (FPodAH ©NHB TR S VIS SopgHoo® IS

(1) 3. ducdherd)d 38 (2) d9.8. ordoror)

() 3. WoSerenasndd (4) 3.9%. oc=3pboG
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180. Identify thewrong pair.
(1) Telanganalnformation Trust - T. Prabhakar
(2) TelanganaSangharshanaSamithi - Anand Rao Thota
(3) Telanganal egidators Forum - V. Jagapathi Rao
(4) OsmaniaUniversity forumfor Telangana- Dr. G. Lakshman
X050 wSS KgowdHm.
(1) Boomrsn aSHERASYY - 8. HIrEs
(2) Bowomrm dodes WS - wdodory S
(3) Bworesr BEVLE) FEH - J. BEISTYH
(4) &5 ardSBIFSo HE Boomre - & R.O{ S

181. Thearticle 3 of Indian constitution allows
(@ Increasetheareaof any state
(b) Daminishtheareof any state
(c) Alter theboundariesof theany state
(d) Alter thenameof any state

88 Tra3gorfSng’d efEs 3 Kstdo
@ orare DQGoso owSBDo.
(b) o"re QG0 SRoTHW&0.
(c) oo DoIros Srd)dug)lo.
(d) oEpe D8 SedSEnso.

(1) (@, (b), (d)

(2) (@, (b), (), (d)

(3) (b), (), (d)

(4) @, (b), (¢

182. Who among thefollowing wrote the book ‘ Telangana Rastrodyamalu’ .
(1) Chennamaneni HanumanthaRao
(2) Devulapdli VenkateswaraRao
(3) AdirguVenkateswaraRao
(4) MadadaVeerabhadraRao

Bod °0&° Boomarr|Pdgired’ Komd) DoNOBI
(1) 5530 ssoosod (2) B9Hosd 3oEBisTH
(3) wdoer I08BIETY (4) Seroreo JSH BT
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183. Matchlist | withlist - Il and select the correct answer

List -1 List-11
(@ TdanganaJanasabha () August, 1997
(b) Bhuvanagiri Public Meeeting (i) October, 1997
(c) TdanganaMahaSabha (111) July, 1998
(d) Tdanganalkyavedika (iv) March, 1997
e | e - 18 28500 $3S DSrmrdk808 S0 808w
DS - | D& - |
(@ Boomresr 30 (i) ey, 1997
(b) 205388 el (i) o8ed, 1997
(C) Boomrsr K0T (iii) =8, 1998
(d) Bewomrw 08gR68 (iv) £, 1997

The correct answer is
SIGIeSER RS SIS I

@ by () (d
1 @Gv) i) ) (i)
2 @ (i) (i) (v
Q) (i) (v) @) (D)
(4) @) @iy (@) (v)

184. Who among the following was the chief guest for the * Simhagarjana’ Public Meeting at
Karimnagar in May, 2001.

(1) Sharad Pawar (2) Devegowda

(3) Shiboo Soren (4) AjitSingh

30, 2001e5* 8605K56e5° 38R ‘?ooo“r’ﬁg(‘é’ DFE Sopg WBHT & §0d TS’ FQ)od DS
(1) $8& S5 (2) a3

(3) 3203 (4) oz&doh

185. Inwhich placethefirst anniversary of the formation of the Telangana Rastra Samithi was
heldinApril 2002.

(1) Warangd (2) Medak

(3) Nagonda (4) Siddipeta

@S, 2002 S* Boomrn TrFONS IES BITYSES )T ) &) ¢ 2O
(1) S8oKS (2) p&§

(3) Seodc (4) g%
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Who of the following did not attend the ‘ Jala Sadhana meeting held at parade grounds,
Secundarabad in January, 2003.

(1) ShaadYadav (2) MedhaPatkar
(3) RamvilasPaswan (4) Shiboo Soren

2350, 2003 &° d8odorerdy HVEToH)S® 8L ‘BOFES HfE §oBIBS' IS
T30 5280

(1) 46605785 (2) b6
(3) TIrD FTCS (4) %e0 VS

187.

Fromwhich one of thefollowing placesTRS|aunched * Pallebata’ programmein October,
2003

(1) Vemulawada (2) Medaram

(3) Mancheria (4) Alampur

0§08, 2003 S° Boomwrorg d8 HTerty’ SEESTQ) & 808 (oS0S” 2§)& Sod
Wrdofono’.

(1) ISvoard (2) Jbzso
(3) Soodorge (4) esoodrs
188. Identify thewrong pair

(1) SamaraSankharavam- Siddipet

(2) TdanganaAtmagauravaSabha- Nagonda
(3) TelanganaSamburau- Hyderabad

(4) TelangananirasanaSabha-Adilabad

008570 w8l ook,
(1) dSoddogroso - dEaw (2) Boorrm e8FTES59 - Sgirod

(3) Bewome HowoTren - T (4) Boomres IS D& - @&

189.

P12

TRSorganised an awareness programme ‘ Telangana Soyi’ for

(1) Students (2) Youth

(3) Women (4) Party workers

868D Boomerdron’ ¥l wl BESg0 EOAT SEYEEr) ACTroNod.
(1) RIMFNCSEES (2) BnSs80

() Sorgoso (4) >§ sog8desd
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190. Inwhich placein October, 2009 * Telangana UdyogulaGarjana’ was organi sed.

(1) Siddipeta (2) Karimnagar (3) Janagaon (4) Kamareddy

808, 20096° Boomrn G&yhHe KES I8 ¢ JroT .

(1) 2528 (2) 860lK6 () =3mo (4) 5508
191. TheTelanganaJoint Action Committee wasformedin 2009 on

(1) 21, December (2) 22, December

(3) 23, December (4) 24, December

2009 &* oo @020 SSrES 208 A6BS S'a

(1) 21 &%oedd (2) 22 &¥oedH

(3) 23 &%oadH (4) 24, &%oedH
192. ‘Dastram’ acollection of Telangana storieswaswritten by

(1) Sangisetti Srinivas (2) AllanRgaiah

(3) GudaAnjaah (4) BoyaJangaiah

Boomre 8o doedo ‘CSQO’ ED0VSTS

(1) Dohzeg 30 (2) 9o oraalg

(3) Hrcs woaasog (4) 5°0% eoradog

193. Fromwhich oneof thefollowing placesin Mahaboobnagar district B.J.P. started * Telangana
Poruyatra in January, 2012.

(1) Alampur (2) Krishna (3) Undavdli (4) Bichupalli
BoBTBS® LirerddKs 2eres® o Podo Sod 2550, 2012¢° H.B.2. Beoomre PTG
ErSodoNo

(1) eseoodrs (2) 81 (3) ®ouSd (4) &0

194. Identify thewrong pair
(1) TelanganaPrgjaFront - Gaddar
(2) TedanganaUnited Front - AkulaBhoomaiah
(3) NagaaraBheri - Belliah Naik
(4) Tudum Debba- NarasngaRao
905 28 foWok.
(1) Beoms PerEod - 186
(2) Boorrer BIBE Po& - e Frdodlyg
(3) &mroe 20 - Beag T°as
(4) Scoo Bey) - SYoKor
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195. SrikanthaChari who Committed suicidefor the cause of Telanganahailed fromwhichvillage.

(1) Narkatpaly (2) Atmakur

(3) Mothkur (4) \Vdigonda
BoomerE’Ho OIS0 VIS 35 08w°0 IMTIrIE BodIT ¢
(1) &899 (2) 8508
(3) o) & (4) %OF0s

196. Matchlist | withlist - Il and select the correct answer

List-1 List-11
(& GudaAnjaah (i) ChoodaChakkani talli
(b) Gorati Venkanna (i) Vandandamma
(c) Andesri (ii1) VuruManadira
(d) Jayarg (iv) PaleKanneeru
e | J rde || & 28500 S8 dSrarddndy 8ok,
DS - | DS - ||
(@) s woaasog (i) WrssE)d SO
(b) A6 o8 (i) Sodsreosoy
() =033 (iii) s Soddor
(d) ecoeE (iv) 98 8

The correct answer is
SIGIeSPR RS SIS I

(@ () () (d)
@Gy vy @) (D)
(2 (@v) (i) @) ()
) (i) (v) (i) ()
4) (i) (i) ()

197. Who among thefollowing edited the book ‘ TelanganaMali Taram Kathalu’
(1) Devaki Devi
(2) Shyamda
(3) Mudiganti SujathaReddy
(4) Vimda
8oHT8S® ‘Boomer 00880 E&e0 Komds dor&Boen
(D) [IL8 3D (2) g
(3) SobKodd dowretd (4) 2o
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198. Identify thewrong pair
(1) TedanganaJournaist Forum-Kalam Kavathu
(2) H.M.T.V.Channel - ‘ Dasha-Disha
(3) SamdaSadasiva- Yaada
(4) A.Nagargu- JaanapadaJatara
008570 w8l ook,
(1) Beoomm 2808 Fdo - wo¥a
(2) oS00 8 IS - ‘¥ - &F
() oo T35 - o5
(4) . o - IHE B SE

199. On which date in 2013 O.U. Students Joint Action Committee Organised a big meeting
caled* TdanganaYudhaBheri’

(1) 21, September (2) 22, September
(3) 23, September (4) 24, September

2013 &*° Q B8S ST 0B g 08y 5°EgESen Dad ‘Beomre oﬁoocgﬁ&’
NEHS ¥ DG D 200k,

(1) 21, R0 (2) 22 2Qoad
(3) 23 dPoadd (4) 24, dPoad
200. ThePresident of Indiasigned the TelanganaBill on

(1) 1, March, 2014 (2) 2,March, 2014
(3) 3, March, 2014 (4) 4,March, 2014
Boomrs Doy TR N8 Bod¥o VI &ew

(1) 1 S8y, 2014 (2) 2 S8y, 2014
(3) 3 &8y, 2014 (4) 4 38y, 2014
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